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R=_L= {fyytvfyy

Lbhtrnjh ghjbpdjlcndf

 

1 Erfpfybz gj nt[ybrt 
,tpjgfcyjcnb

 

1=1 J,obt cdtltybz

 

”nj herjdjlcndj gj vjynf;e b 'rcgkefnfwbb
cjlth;bn ghbywbgbfkmyst erfpfybz- rjnjhst
ljk;ys dsgjkyznmcz ghb vjynf;t- 'rcgkefnfwbb b
nt[ybxtcrjv j,cke;bdfybb= Gj'njve gthtl
vjynf;tv b ddjljv d 'rcgkefnfwb. jyb
j,zpfntkmyj ljk;ys ,snm bpextys cktcfhtv_
c,jhobrjv- f nfr;t cjjndtncnde.obv
j,cke;bdf.obv gthcjyfkjv bkb gjnht,bntktv=
Herjdjlcndj ljk;yj gjcnjzyyj yf[jlbnmcz yf
vtcnt 'rcgkefnfwbb j,jheljdfybz=

Ytj,[jlbvj cj,k.lfnm yt njkmrj j,obt
nht,jdfybz gj nt[ybrt ,tpjgfcyjcnb- ghbdtl/yyst
d hfpltkt $Erfpfybz gj nt[ybrt ,tpjgfcyjcnb$- yj
b cgtwbfkmyst erfpfybz- ghbdjlbvst d lheub[
hfpltkf[=

 

1=2 Pyfxtybt cbvdjkjd b yflgbctq

 

Erfpfybz gj nt[ybrt
,tpjgfcyjcnb- cjlth;fobtcz d
lfyyjv herjdjlcndt gj
j,cke;bdfyb. b vjynf;e-
ytdsgjkytybt rjnjhs[ vj;tn
gjdktxm jgfcyst lkz ;bpyb b
pljhjdmz k.ltq gjcktlcndbz-
cgtwbfkmyj jnvtxtys j,obv
pyfrjv jgfcyjcnb gj cnfylfhne

 

DIN 

 

4844

 

-W

 

9

 

.

 

”njn cbvdjk Ds yfqltnt hzljv c
erfpfybzvb gj nt[ybrt
,tpjgfcyjcnb- ytdsgjkytybt
rjnjhs[ vj;tn dspdfnm jnrfp d
hf,jnt vfiby- f nfr;t b[
gjdht;ltybt=

Hzljv c 'nbv cbvdjkjv
yf[jlzncz htrjvtylfwbb bkb
erfpfybz- j,ktuxf.obt hf,jne
b j,tcgfxbdf.obt yfl/;ye.
'rcgkefnfwb. j,jheljdfybz=

 

Erfpfybz- gjvtotyyst ytgjchtlcndtyyj yf
j,jheljdfybb ljk;ys cj,k.lfnmcz d j,zpfntkmyjv
gjhzlrt b cj[hfyznmcz nfr- xnj,s b[ vj;yj ,skj
ghjxbnfnm d k.,jq vjvtyn=

 

1=3 Rdfkbabrfwbz b j,extybt
j,cke;bdf.otuj gthcjyfkf

 

Gthcjyfk- dsgjkyz.obq 'rcgkefnfwb.-
nt[ybxtcrjt j,cke;bdfybt b rjynhjkmyst
jcvjnhs- f nfr;t vjynf; j,jheljdfybz ljk;ty
bvtnm cjjndtncnde.oe. dsgjkyztvjq hf,jnt
rdfkbabrfwb.= Rheu djghjcjd- pf rjnjhst ytc/n
gfhcjyfk jndtncndtyyjcnm b rjnjhst jy ljk;ty
rjynhjkbhjdfnm- f nfr;t j,kfcnm tuj rjvgtntywbb
ljk;yf njxyj jghtltkznmcz gjnht,bntktv= Tckb
gthcjyfk yt j,kflftn ytj,[jlbvsvb pyfybzvb- nj
tuj ytj,[jlbvj cjjndtncnde.obv j,hfpjv j,exbnm
b ghjbycnhernbhjdfnm= ”nj vj;tn dsgjkyznmcz d
ckexft ytj,[jlbvjcnb bpujnjdbntktv bkb
gjcnfdobrjv j,jheljdfybz gj gjhextyb.
gjnht,bntkz= Lfktt- gjnht,bntkm ljk;ty
ghjrjynhjkbhjdfnm- xnj,s dtcm vfnfhbfk-
cjlth;fobqcz d herjdjlcndt gj 'rcgkefnfwbb-
,sk gjkyjcnm. ecdjty tuj gthcjyfkjv= 

 

1=4 Jgfcyst gjcktlcndbz 
ytcj,k.ltybz erfpfybq gj 
nt[ybrt ,tpjgfcyjcnb

 

Ytcj,k.ltybt erfpfybq gj nt[ybrt ,tpjgfcyjcnb
vj;tn gjdktxm pf cj,jq rfr jgfcyst gjcktlcndbz
lkz pljhjdmz b ;bpyb xtkjdtrf- nfr b cjplfnm
jgfcyjcnm lkz jrhe;f.otq chtls b j,jheljdfybz=
Ytcj,k.ltybt erfpfybq gj nt[ybrt ,tpjgfcyjcnb

DYBVFYBT

ERFPFYBT
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vj;tn nfr;t cltkfnm ytltqcndbntkmysvb k.,st
nht,jdfybz gj djpvtotyb. eoth,f=
D xfcnyjcnb- ytcj,k.ltybt nht,jdfybq nt[ybrb
,tpjgfcyjcnb vj;tn- yfghbvth- dspdfnm%

 

•

 

jnrfp df;ytqib[ aeyrwbq j,jheljdfybz+

 

•

 

ytltqcndtyyjcnm ghtlgbcfyys[ vtnjljd lkz
nt[ybxtcrjuj j,cke;bdfybz b htvjynf+

 

•

 

jgfcye. cbnefwb. lkz pljhjdmz b ;bpyb
gthcjyfkf dcktlcndbt djpltqcndbz
'ktrnhbxtcrb[ bkb vt[fybxtcrb[ afrnjhjd=

 

1=5 Dsgjkytybt hf,jn c cj,k.ltybtv 
nt[ybrb ,tpjgfcyjcnb

 

Ghb dsgjkytybb hf,jn ljk;ys cj,k.lfnmcz
ghbdtltyyst d lfyyjv herjdjlcndt gj vjynf;e b
'rcgkefnfwbb erfpfybz gj nt[ybrt ,tpjgfcyjcnb-
ceotcnde.obt yfwbjyfkmyst ghtlgbcfybz gj
nt[ybrt ,tpjgfcyjcnb- f nfr;t dctdjpvj;yst
ghtlgbcfybz gj dsgjkytyb. hf,jn- 'rcgkefnfwbb
j,jheljdfybz b nt[ybrt ,tpjgfcyjcnb-
ltqcnde.obt e gjnht,bntkz=

 

1=6 Erfpfybz gj nt[ybrt 
,tpjgfcyjcnb lkz gjnht,bntkz 
bkb j,cke;bdf.otuj gthcjyfkf 

 

•

 

Yt ltvjynbhjdfnm yf hf,jnf.otv
j,jheljdfybb ecnfyjdktyyjt juhf;ltybt-
,kjrbhe.obt b ghtlj[hfybntkmyßt ecnhjqcndf
lkz pfobns gthcjyfkf jn gjldb;ys[ xfcntq
j,jheljdfybz=

 

•

 

Ytj,[jlbvj bcrk.xbnm djpvj;yjcnm
djpybryjdtybz jgfcyjcnb- cdzpfyyjq c
'ktrnhj'ythubtq (,jktt gjlhj,yj cvjnhb-
yfghbvth- ghtlgbcfybz 

 

VDE

 

 b vtcnys[
'ythujcyf,;f.ob[ ghtlghbznbq)=

 

•

 

Ghb ghjdtltybb nt[ybxtcrjuj j,cke;bdfybz
jnrk.xbnt j,jheljdfybt jn 'ktrnhbxtcrjq
ctnb=

 

•

 

Ghtljndhfnbnt djpvj;yjcnm drk.xtybz
ecnfyjdrb ,tp yflpjhf=

 

1=7 Erfpfybz gj nt[ybrt 
,tpjgfcyjcnb ghb dsgjkytybb 
nt[ybxtcrjuj j,cke;bdfybz- 
rjynhjkmys[ jcvjnhjd b vjynf;f

 

Gjnht,bntkm ljk;ty j,tcgtxbnm dsgjkytybt dct[
hf,jn gj nt[ybxtcrjve j,cke;bdfyb.-
rjynhjkmysv jcvjnhfv b vjynf;e
rdfkbabwbhjdfyysvb cgtwbfkbcnfvb- ljgeotyysvb
r dsgjkytyb. 'nb[ hf,jn b d ljcnfnjxyjq vtht
jpyfrjvktyysvb c ybvb d [jlt gjlhj,yjuj
bpextybz herjdjlcndf gj vjynf;e b 'rcgkefnfwbb=

Df;yj- xnj,s dct hf,jns ghjdjlbkbcm ghb
ythf,jnf.otv j,jheljdfybt= Ljk;ty j,zpfntkmyj
cj,k.lfnmcz gjhzljr ltqcndbq jnrk.xtybz
j,jheljdfybz- jgbcfyyßq d herjdjlcndt gj
vjynf;e b 'rcgkefnfwbb=

Chfpe ;t gj jrjyxfybb hf,jn ljk;ys ,snm cyjdf
ecnfyjdktys bkb drk.xtys dct ltvjynbhjdfyyst
pfobnyst b ghtlj[hfybntkmyst ecnhjqcndf=

Gthtl gjdnjhysv ddjljv d 'rcgkefnfwb.
ytj,[jlbvj dsgjkybnm erfpfybz- ghbdtltyyst d
hfpltkt $Gthdjyfxfkmysq ddjl d 'rcgkefnfwb.$=

 

1=8 Cfvjcnjzntkmyjt 
gthtj,jheljdfybt
b bpujnjdktybt pfgfcys[ epkjd b 
ltnfktq

 

Gthtj,jheljdfybt bkb vjlbabrfwb. ecnhjqcnd
hfphtiftncz dsgjkyznm njkmrj gj ljujdjhtyyjcnb c
bpujnjdbntktv= Abhvtyyst pfgfcyst epks b ltnfkb-
f nfr;t hfphtityyst r bcgjkmpjdfyb.
abhvjq_bpujnjdbntktv rjvgktrne.obt
ghbyflkt;yjcnb ghbpdfys j,tcgtxbnm yflt;yjcnm
'rcgkefnfwbb= Ghbvtytybt epkjd b ltnfktq lheub[
ghjbpdjlbntktq vj;tn dspdfnm jnrfp
bpujnjdbntkz ytcnb jndtncndtyyjcnm pf djpybribt
d htpekmnfnt 'njuj gjcktlcndbz=

 

1=9 Ytljgecnbvst ht;bvs 
'rcgkefnfwbb

 

”rcgkefnfwbjyyfz yflt;yjcnm gjcnfdkztvjuj
j,jheljdfybz ufhfynbhetncz njkmrj d ckexft
ghbvtytybz d cjjndtncndbb c aeyrwbjyfkmysv
yfpyfxtybtv= Ghtltkmyj ljgecnbvst pyfxtybz-
erfpfyyst d nt[ybxtcrb[ [fhfrnthbcnbrf[- yt
ljk;ys ,snm ghtdsitys yb d rjtv ckexft= (cvjnhb
cjjndtncnde.obt hfpltks herjdjlcndf gj
'rcgkefnfwbb)=
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2 J,obt cdtltybz

 

Ecnfyjdrb lkz gjdsitybz lfdktybz nbgf 

 

HYDROMONO
CR/CRE

 

 b ghjnbdjgj;fhyjt j,jheljdfybt 

 

HYDROPAC

 

ghtlcnfdkz.n cj,jq fdnjvfnbxtcrb eghfdkztvst
vfkjuf,fhbnyst yfcjcyst ecnfyjdrb c 1 yfcjcjv nbgf

 

CR

 

 bkb 

 

CRE.

 

C yfcjcfvb nbgf

 

 

 

CR

 

"nb yfcjcyst ecnfyjdrb jcyfof.ncz cbcntvjq
eghfdktybz d aeyrwbb lfdktybz lkz fdnjvfnbxtcrjuj
drk.xtybz b jnrk.xtybz yfcjcf= Ecnfyjdrb vjoyjcnm.
jn 5-5 rDn ljgjkybntkmyj jcyfotys 'ktrnhjyysv
ecnhjqcndjv dslth;rb dhtvtyb=
Htkt lfdktybz ghjbpdjlbn drk.xtybt bkb dsrk.xtybt
ecnfyjdrb=
Pf,jh djls cyfxfkf bltn bp pfgjkytyyjuj yfgjhyjuj
ublhj,frf=
Tckb lfdktybt d cbcntvt gflftn yb;t ghtldfhbntkmyj
ecnfyjdktyyjuj lfdktybz drk.xtybz- nj ghjbc[jlbn
fdnjvfnbxtcrbq pfgecr yfcjcf=
Ghb gjyb;tybb hfc[jlf djls ghjbc[jlbn pfgjkytybt
yfgjhyjuj htpthdefhf- lfdktybt gjdsiftncz b nfrbv
j,hfpjv ghjbc[jlbn ublhfdkbxtcrjt jnrk.xtybt yfcjcf
c dslth;rjq dhtvtyb- ghb ljcnb;tybb pyfxtybz
lfdktybz dsrk.xtybz yf htkt lfdktybz=
Cbcntvf eghfdktybz ecnfyjdjr vjoyjcnm. jn 5-5 rDn
cyf,;tyf htuekbhetvsv vt[fybpvjv dslth;rb
dhtvtyb- dj bp,t;fybt htprb[ gthtgfljd lfdktybz d
cbcntvt b dscjrjq xfcnjns gthtrk.xtybz (rhjvt
yfcjcys[ ecnfyjdjr c yfcjcjv nbgf 

 

CRE*)

 

=
Gj ljcnb;tyb. pyfxtybz lfdktybz dsrk.xtybz
chf,fnsdftn pfvtlkz.ott htkt=
Gj bcntxtybb dslth;rb dhtvtyb yfcjc jnrk.xftncz
(rhjvt yfcjcys[ ecnfyjdjr c yfcjcjv nbgf 

 

CRE*)

 

=

 

C yfcjcfvb nbgf

 

 

 

CRE

 

Yfcjcs abhvs UHEYLAJC jcyfotys xfcnjnysv
yjhvfnbdysv 'ktrnhjldbufntktv c dvjynbhjdfyysv
htuekznjhjv 

 

PI. 

 

Ctycjh lfdktybz j,tcgtxbdftn
,tccnegtyxfne. hfdyjvthye. htuekbhjdre lfdktybz pf
yfcjcjv=

Ghb gjyb;tybb hfc[jlf djls fdnjvfnbxtcrb
ghjbc[jlbn ublhfdkbxtcrjt gthtrk.xtybt yfcjcf yf
oflzobq ht;bv=

Lbfahfuvtyysq yfgjhysq ublhj,fr jceotcndkztn
vbybvfkmye. gjlfxe djls dj dhtvz afps dsrk.xtybz=

Ye;yjt rjkbxtcndj pflftncz ghb gjvjob rkfdbfnehs
j,cke;bdfybz yf rktvvyjq rjhj,rt yfcjcf bkb
lbcnfywbjyysv eghfdktybtv 

 

R100.

 

(cvjnhb jnltkmyjt herjdjlcndj gj 'rcgkefnfwbb 

 

R100

 

)=

Gjvbvj dctuj ghjxtuj yfcjc jcyfoty ds[jlfvb lkz
gjntywbfkmyj cdj,jlyjuj dytiytuj drk._# dsrk.xtybz-
wbahjdsvb aeyrwbzvb- fdfhbqysv cbuyfkjv- f nfr;t
cjtlbytybtv lkz gjlfxb cbuyfkjd vt;le 'ktrnhjyysvb
ecnhjqcndfvb=

 

3 J,]tv gjcnfdrb

 

*

 

=

 

Vfkjuf,fhbnyfz yfcjcyfz ecnfyjdrf ,tp j,kbwjdrb
drk.xftn wtynhj,t;ysq yfcjc nbgf 

 

CR/CRE

 

 c
'ktrnhjldbufntktv- 
1 gkbne jcyjdfybz (rhjvt yfcjcf nbgf 

 

CR 90

 

)- 
1 ublhfdkbxtcrbq njhvjpyjq rkfgfy- 
1 'ktrnhjyyjt pfvtlkz.ott htkt (jn 5-5 rDn)- 
1

 

**

 

hfcghtltkbntkmysq zobr c pfobnjq ldbufntkz- 
1

 

***

 

htkt lfdktybz cj irfkjq drk=#dsrk=- 
1 vfyjvtnh- 
1 j,hfnysq rkfgfy- 
1 lbfahfuvtyysq yfgjhysq ublhj,fr- 
1 pfldb;re b 
1 yfgjhye. nhe,e- 

 

**

 

dcz

 

 

 

cbcntvf eghfdktybz 'ktrnhjldbufntktv b
rjynhjkz d yfcjcf[ nbgf 

 

CRE

 

 byntuhbhjdfyf d ujkjdre
'ktrnhjldbufntkz=

 

***

 

d yfcjcf[ nbgf 

 

CRE

 

 bvttncz lfnxbr lfdktybz

 

4 J,jheljdfybt

 

4=1 C[tvf j,jheljdfybz

4=2 Epks b ltnfkb j,jheljdfybz

 

1 Lbfahfuvtyysq yfgjhysq ublhj,fr
2 "ktrnhjirfa c cbcntvjq eghfdktybz
2=1 Gthtrk.xfntkm dblf hf,jn 

(

 

0-AUTO-START

 

)
2=2 Kbytqysq dsrk.xfntkm (jn 5-5 rDn d yfcjcf[

nbgf 

 

CR)
2=3 Gjrfpfybt ht;bvf hf,jns (H1)
2=4 Fdfhbqysq cbuyfk#rkfdbif yjdjuj cnfhnf (H2/S2)
3 Rktvvyfz rjhj,rf c 'ktrnhjyysv ,kjrjv

eghfdktybz (njkmrj d yfcjcf[ nbgf CRE)
4 Htkt lfdktybz  lkz htuekbhjdfybz lfdktybz (d

yfcjcf[ nbgf CR)
lfnxbr lfdktybz lkz htuekbhjdfybz lfdktybz (d

yfcjcf[ nbgf CRE)

Ublhjvjyj

* Pfibnf jn
gecrf 

Drk.xtybt/
jnrk.xtybt

Ctnm

1[230/
400D
50Uw/
N/PE

Hgjlgjh yfcjc
HDrk/
DDsrk

R gjnht,bntk.

dce[e.

A
00

31
09

2

* Cjukfcyj pfrfpe
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5 Htuekznjh lfdktybz lkz pfobns jn gecrf
$dce[e.$

6 Hf,jxbq vfyjvtnh
7 Hfcghtltkbntkm c ublhjrkfgfyjv dslth;rb

dhtvtyb
8 Yfcjc
9 J,hfnysq rkfgfy
10 Yfgjhyfz nhe,f c pfgjhyjq pfldb;rjq
Ghbyflkt;yjcnb (aeyrwbb)

3=3 Gjpbwbz htkt lfdktybz bkb htkt rjynhjkz
ehjdyz lkz pfobns jn gecrf "dce[e." ghb
ytghzvjv gjlrk.xtybb

3=4 Gjgkfdrjdsq dsrk.xfntkm
3=5 Ctntdjq rf,tkm c intrthjv "CEKON"

4=2=1 J,jheljdfybt c yfcjcjv nbgf CR

4=2=2 J,jheljdfybt c yfcjcjv nbgf CRE

4=2=3 Pfobnf jn gecrf dce[e. (bpdyt)

4=2=4 Cbcntvf eghfdktybz gjp= 2- dbl 
cgthtlb (njkmrj d CR/CRN)

5 Nt[ybxtcrbt lfyyst

5=1 Hfcibahjdrf eckjdyjuj 
j,jpyfxtybz

1

10

2

2.3
2.4

2.1
2.2

9 7

3.5
6

8
5

4

A
80

00
08

4

1

109

7

6

8 5

3 A
80

00
09

4=2=5 lj 4-0 rDn 4=2=6 lj 5-5 rDn

3.3

3.4

A
23

81
29

4

A
80

00
01

1

A
80

00
01

22.1

2.12.2

2 2.3 2.4

2

Nbg

Nbg yfcjcf

(CR#CRN bkb CRE#CRNE) 

Ublhjvjyj CR 4 - 60
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5=2 Nt[ybxtcrbt lfyyst yfcjcyjq 
ecnfyjdrb 

Ehjdtym pderjdjuj lfdktybz lkz yfcjcjd- jcyfo/y ys[
'ktrnhjldbufntkzvb abhvß UHEYLAJC

5=3 Abhvtyyfz nf,kbxrf c 
nt[ybxtcrbvb [fhfrnthbcnbrfvb 
(yf ecnfyjdrt)

Yf j,jheljdfybb yf[jlbncz abhvtyyfz nf,kbxrf c
nt[ybxtcrbvb [fhfrnthbcnbrfvb- nht,etvsvb lkz
gjlrk.xtybz b ghbvtytybz=

c yfcjcfvb nbgf CR/CRN

Gjlfxf% Lj 120 M2#w
Yfgjh% vfrc= 240 M

Vfrc= lfdktybt 
ecnfyjdrb%

Vfrc= lj 25 ,fh

c yfcjcfvb nbgf CRE/CRNE

Gjlfxf% Lj 46 M2#w
Yfgjh% vfrc= 160 M

Vfrc= lfdktybt 
ecnfyjdrb%

Vfrc= lj 16 ,fh

d Ublhjgfr
Gjlfxf% Lj 120 M2#w
Yfgjh% vfrc= 160 M

Vfrc= lfdktybt 
ecnfyjdrb%

Vfrc= lj 16 ,fh

Ntvgthfnehf 
jrhe;f.otq chtls% 0 lj 40 ˚C

Ntvgthfnehf 
hf,jxtq chtls%

Lj 70 ˚C

Xfcnjnf dhfotybz 
'ktrnhjldbufntkz% 2900 vby-1

Hf,jxtt yfghz;tybt% 1[230D bkb 3[400 D # 
50#60 Uw

Eghfdkz.ott 
yfghz;tybt lfnxbrf% 1[220#230 D # 50 Uw
Ghj,ysq gecr 1 ctr=# rf;lst 24 xfcf 

(njkmrj d Ublhjgfrt)
Ehjdtym gjvt[ 
hflbjghbtvf% N

Rkfcc pfobns% - 'ktrnhjirfaf IP 54
- 'ktrnhjldbufntkz IP 44

Dbl drk.xtybz% lj 4-0 rDn drk.xbntkmyj – 
ghzvjt- c 5-5 rDn gj c[tvt 
$pdtplf – nhteujkmybr$

Rkfcc bpjkzwbb 
('ktrnhjldbufntkz)% gj VDE 0530 F/B

Vbybvfkmyjt 
lfdktybt dgecrf%

LGYD yfcjcf+ ghjxbt gjnthb+ 
rj'aabwbtyn pfgfcf ghjxyjcnb 
0-5 v djlzyjuj cnjk,f

Vfrcbvfkmyjt 
lfdktybt dgecrf%

6 ,fh 
(d pfdbcbvjcnb jn nbgf)

Lbfahfuvtyysq 
yfgjhysq ublhj,fr%

18 k#10 ,fh bkb 12#16 ,fh 
bkb 8#25 ,fh

”ktrnhjldb–
ufntkm (rDn)

50 Uw 
(l, # F)

”ktrnhjldb–
ufntkm (rDn)

50 Uw 
(l, # F)

0,25 56 4,0 73

0,37 56 5,5 73

0,55 57 7,5 73

0,75 56 11,0 80

1,5 57 15,0 70

2,2 65 18,5 70

3,0 65 22,0 76

30 76

37 81

Typ

Prod.-Nr.

Serien-Nr.

U

I

P

f
GW 9451

V

A

kW

Hz

Q

H

T

Made in          /

m /h

°C

2

2

3



HYDROMONO CR/CRE, HYDROPAC

– 7 –

5=4 Ljgjkybntkmyst rjvgktrne.obt 

Bpltkbt Jgbcfybt Vjoyjcnm # 
J,jpyfxtybt

yjvth 
bplt_
kbz

Ub
lh

jv
jy

j 
C

R

Ub
lh

jv
jy

j 
C

R
N

Ub
lh

jv
jy

j 
C

R
E

Ub
lh

jv
jy

j 
C

R
N

E

Ub
lh

jg
fr

Htkt 
lfdktybz

D rfxtcndt pfobns jn gecrf 
"dce[e." ghb ytghzvjv/
ytgjchtlcndtyyjv cjtlbytybb (cj 
cnjhjys yfuytnfybz) cdsit 1-0 
,fhf-
1-afpyjt cjtlbytybt- cj irfkjq 
htuekbhjdrb- drk.xfz 
ghbyflkt;yjcnb lkz gjlrk.xtybz- 
vfyjvtnhf c lbfgjpjyjv 0-5_8 ,fhf- 
'ktrnhbxtcrjt pfvtlktybt 
chf,fnsdfybz=
Vfnthbfk _ cnfkm=

lkzCR2/CR4

lkzCR8

lkzCR16/32/45/
64/90

lbfgfpjy
htuekbhjd=
lfdktybz 
1-0 _12 ,fh

91041423

91041424

91041425

91041426

[

[

[

[

[

[

[

[

[

[

D rfxtcndt pfobns jn gecrf 
"dce[e." ghb ytgjchtlcndtyyjv 
cjtlbytybb (cj cnjhjys 
dcfcsdfybz)- yb;t 1-0 ,fhf
1-afpyjt cjtlbytybt- cj irfkjq 
htuekbhjdrb- drk.xfz 
ghbyflkt;yjcnb lkz gjlrk.xtybz- 
vfyjvtnhf- hexyjuj drk.xtybz 
yfcjcf=
Vfnthbfk _ cnfkm=

lbfgfpjy 
htuekbhjd= 

lfdktybz 1-0-
5_8 ,fh

1-0_16 ,fh

1-0_12 ,fh

91041427

91041428

91041429

[

[

[

[

[

[

[

[

RM 2 Htkt ehjdyz c gjkyjcnm.  
ghjdtltyysv 'ktrnhjvjynf;tv- 
dcnhjtyj d rfxtcndt pfobns jn 
gecrf "dce[e." ghb ytghzvjv 
gjlrk.xtybb (cnjhjyf dcfcsdfybz) 
lkz nht[ 'ktrnhjljd IP 54=

418842 [ [ [ [ [

EL 1 "ktrnhjls bp [hjvjybrtktdjq 
cnfkb/c rjhgecjv bp gkfcnvfccs

ID5125 [ [ [ [ [

ELKA "ktrnhjrf,tkm 1-afpysq 1-5 vv2 
gjl[jlzobq lkz 'ktrnhjljd EL 1 
Nbg% HO 7 RN-FIG 1-5

(Erfpsdfqnt 
lkbye)

ID8240 [ [ [ [ [

A
11

20
89

3
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5=5 Ghbyflkt;yjcnb

Bpltkbt Jgbcfybt Vjoyjcnm # 
J,jpyfxtybt

yjvth 
bpltkb
z

Ub
lh

jv
jy

j 
C

R

Ub
lh

jv
jy

j 
C

R
N

Ub
lh

jv
jy

j 
C

R
E

Ub
lh

jv
jy

j 
C

R
N

E

Ub
lh

jg
fr

Gjuhe;yjq 
gjgkfdrjdsq 
dsrk.xfntkm
d c,jht

D rfxtcndt pfobns jn gecrf 
" dce[e."  ghb ytghzvjv 
gjlrk.xtybb bp gkfcnvfccs PPH 
b c rf,tktv c htpbyjdjq 
bpjkzwbtq hfphsdyjq vjoyjcnm. 
d 8 F ghb 230 D
Hf,jxtt lfdktybt vfrc 1 ,fh
Hf,jxfz ntvgthfnehf vfrc 80 ˚C

Lkbyf rf,tkz

3-0v
5-0v
10-0v
20-0v

ID7801
ID7805
ID7809
ID7842

x
x
x
x

x
x
x
x

x
x
x
x

x
x
x
x

x
x
x
x

Htkt gjnjrf C gjkyjcnm. ghjdtl/yysv 
'ktrnhjvjynf;tv- dcnhjtyj lkz 
jnrk.xtybz d ckexft- tckb vby= 
gjnjr kt;bn yb;t ljgecnbvjq 
uhfybws- f nfr;t d rfxtcndt 
pfobns jn gecrf "dce[e."  c 
htuekbhetvjq dslth;rjq 
dhtvtyb- 1-afpyjt gjlrk.xtybt

418854 x x x

"ktrnhjyyjt
 htkt gjnjrf

Cjcnjbn bp% gjuhe;yjuj 
xedcndbntkmyjuj 'ktvtynf- 
ctycjhf d rfgc.kt b 
'ktrnhjyyjuj lfnxbrf lkz 
jnrk.xtybz d ckexft- tckb vby= 
gjnjr kt;bn yb;t ljgecnbvjq 
uhfybws b d ckexft ljcnb;tybz 
vfrc= lfdktybz

Gjlrk.xtybt
G 1/2"- 2 v
G 1/2"- 5 v

96010347
96010346

x
x

x
x

x
x

Rf,tkm 
'ktrnhjgbnf-
ybz d 
rjvgktrnt 
cj intrthjv 
CEKON

Lkz gjlrk.xtybz ecnfyjdrb r 
hjptnrt 'ktrnhjgbnfybz- lkbyf _ 
1-5 v

1[230D
3[400D/16F
3[400D/32F

418851
418845
418846

x
x
x

x
x
x

x
x
x

x
x
x

x
x
x

Yf,jh 
rjvgktrne.ob[ 
'ktvtynjd lkz 

hf,jns dj 
dcfcsdf.otv 

ht;bvt- cjcnjbn bp% 
pfuhepjxyjq djhjyrb- 

DIN/DVGW - rhfyf-  
abnbyujd

Yf,jh 
rjvgktrne.
ob[
'ktvtynjd

Ghbtvysq 
rkfgfy

lkz CR2/CR4

lkz CR8

lkz CR16/32/45/64

1

1 1/4"-

1 1/4"-

ID 7974
ID 7975
ID 7946

95 60 10
95 60 12
95 60 15

A
 1

13
08

93
A

11
40

89
3

A
20

90
79

4

A
 1

15
08

93

A
11

60
89

3
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6 {fhfrnthyst 
jcj,tyyjcnb 
j,jheljdfybz

6=1 Wtktdjt yfpyfxtybt
Ublhjvjyj CR

Lkz cyf,;tybz  djljq b gjdsitybz lfdktybz d ;bks[
ljvf[ b ghjvsiktyyjcnb- f nfr;t lkz lj;ltdfybz b
jhjitybz d cfljdjlcndt b yf ctkmcrj[jpzqcndtyys[
ghtlghbznbz[=

Ublhjvjyj CRE

Lkz cyf,;tybz  djljq b gjdsitybz lfdktybz d ;bks[
ljvf[ b ghjvsiktyyjcnb- f nfr;t lkz lj;ltdfybz b
jhjitybz d cfljdjlcndt b yf ctkmcrj[jpzqcndtyys[
ghtlghbznbz[=

Dj dct[ jnhfckz[- ult ljk;yj ,snm gjcnjzyyjt
lfdktybt- f nfr;t cyf,;tybt djljq rjkt,ktncz dhtvz
jn dhtvtyb=

Ublhjvjyj PAC

Lkz gjdsitybz lfdktybz d ghjnbdjgj;fhyjv
j,jheljdfybb=

K.,jt bcgjkmpjdfybt
j,jheljdfybz- yt jndtxf.ott
nht,jdfybzv wtktdjuj yfpyfxfybz-
cxbnftncz yt cjjndtncnde.obv
ecnfyjdktyysv eckjdbzv
'rcgkefnfwbb= Abhvf UHEYLAJC
yt ytctn jndtncndtyyjcnb pf
eoth,- djpybribq d htpekmnfnt
nfrjuj bcgjkmpjdfybz
j,jheljdfybz= Dcz
jndtncndtyyjcnm gjkyjcnm.
kj;bncz yf gjnht,bntkz=

6=2 Hf,jxfz chtlf
:blrfz- dphsdj,tpjgfcyfz chtlf ,tp f,hfpbdys[ bkb
lkbyyjdjkjrybcns[ 'ktvtynjd= Hf,jxfz chtlf yt
ljk;yf ,snm [bvbxtcrb fuhtccbdyjq gj jnyjityb. r
vfnthbfkfv ltnfktq yfcjcf= 

Tckb gthtrfxbdftncz ;blrjcnm-
gkjnyjcnm b#bkb dzprjcnm
rjnjhjq jnkbxftncz jn
gfhfvtnhjd djls- nj bp_pf
bpvtytybz ublhfdkbxtcrjq
vjoyjcnb ytj,[jlbvj
exbnsdfnm nht,etve. d 'njv
ckexft vjoyjcnm
'ktrnhjldbufntkz=

6=3 Rjycnherwbz

6=3=1 Fuhtufn

Ecnfyjdrb nbgf HYDROMONO vjynbhe.ncz yf hfve
jcyjdfybz bp [hjvjybrtktdjq cnfkb= Yfcjcs cyf,;tys
htpbyjdsvb ifq,fvb lkz ufitybz db,hfwbjyyjuj ievf
b ghbrhtgktys c gjvjom. ,jknjd r hfvt jcyjdfybz= 
D yfgjhyjq vfubcnhfkb yfcjcf ecnfyjdkty ,kjr
htuekbhjdfybz lfdktybz- cjcnjzobq bp njhvjpyjuj
rkfgfyf- lbfahfuvtyyjuj yfgjhyjuj htpthdefhf b
hfcghtltkbntkz=
Vt;le ybvb hfcgjkj;ty ublhfdkbxtcrbq njhvjpyjq
rkfgfy lkz juhfybxtybz xfcnjns gthtrk.xtybq=
Hfcghtltkbntkm cke;bn jlyjdhtvtyyj ytceobv
'ktvtynjv lkz htkt hf,jxtuj lfdktybz c vfyjvtnhjv- f
nfr;t hfcgjkfuftn vtcnjv lkz gjlrk.xtybz dnjhjuj
htkt lfdktybz= 
"ktrnhjirfa erhtgkty c gjvjom. ,jknjd yf rjycjkt-
rjnjhfz d cdj. jxthtlm ghbdbyxtyf r hfvt jcyjdfybz=

6=3=2 Yfcjc

Dthnbrfkmyj vjynbhetvsq- vyjujcnegtyxfnsq
wtynhj,t;ysq yfcjc dscjrjuj lfdktybz c yjhvfkmysv
dcfcsdfybtv b ctrwbjyyjq rjycnherwbtq- cthbb CR=
{hjvjybrtktdfz cnfkm- ghbvtyztvfz lkz bpujnjdktybz
dyenhtyyb[ ltnfktq yfcjcf- j,tcgtxbdftn rjhhjpbjyye.
cnjqrjcnm b dscjre. bpyjcjcnjqrjcnm= Gjlibgybrb
crjkm;tybz cvfpsdf.ncz gjlfdftvjq yfcjcjv hf,jxtq
chtljq=
Dct yfcjcyst ecnfyjdrb jcyfotys vt[fybxtcrjq
cbcntvjq njhwtds[ egkjnytybq dfkf (DIN 24960-
rjhjnrjuj nbgf)=

6=4 Jgbcfybt hf,jns
Cbcntvf djljcyf,;tybz HYDROMONO abhvs
UHEYLAJC ghtlyfpyfxtyf lkz ytgjchtlcndtyyjuj
(ghzvjuj) gjlrk.xtybz gjckt gjcnfdrb ,tp ghjdtltybz
rfrb[-kb,j ljgjkybntkmys[ hf,jn= Ghb ytghzvjv
gjlrk.xtybb cktletn ghtlecvjnhtnm ecnfyjdre
,tpyfgjhyjuj ghtldrk.xtyyjuj htpthdefhf gj DIN 1988=

Lfdktybt dgecrf + lfdktybt
yfuytnfybz yfcjcf = lfdktyb.
ecnfyjdrb=
Ghb ytj,[jlbvjcnb ecnfyjdbnt
htlerwbjyysq rkfgfy=

D 'ktrnhjirfae rjvvenfwbjyyjuj hfcghtltkbntkmyjuj
ecnhjqcndf gjp= 2 hfpvtotys dct ytj,[jlbvst lkz
eghfdktybz ghjnbdjgj;fhysv j,jheljdfybtv
aeyrwbjyfkmyst 'ktvtyns= Jy d cjxtnfybb c dytiybvb
lfnxbrfvb cbuyfkjd j,tcgtxbdftn fdnjvfnbxtcrbq
ht;bv 'rcgkefnfwbb j,jheljdfybz=

6=4=1 DRK_#DSRK>XTYBT j,jheljdfybz

Drk.xtybt b jnrk.xtybt j,jheljdfybz lj 4-0 rDn
dsgjkyztncz c gjvjom. gthtrk.xfntkz dblf hf,jn gjp=
2=1=

ERFPFYBT

DYBVFYBT
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Yt bvttn aeyrwb. kbytqyjuj
dsrk.xfntkz= Gthtl yfxfkjv
hf,jn gj nt[ybxtcrjve
j,cke;bdfyb. j,zpfntkmyj
jnrk.xbnt j,jheljdfybt jn
'ktrnhjctnb=

Drk.xtybt b jnrk.xtybt j,jheljdfybz jn 5-5 rDn
dsgjkyztncz c gjvjom. kbytqyjuj dsrk.xfntkz gjp=
2=2=

6=4=2 Htuekbhjdfybt lfdktybz

Ublhjvjyj CR#Ublhjgfr

Pf,jh djls cyfxfkf bltn bp pfgjkytyyjuj yfgjhyjuj
ublhj,frf gjp= 1= Tckb lfdktybt d cbcntvt gflftn yb;t
ghtldfhbntkmyj ecnfyjdktyyjuj lfdktybz drk.xtybz- nj
ghjbc[jlbn fdnjvfnbxtcrbq pfgecr yfcjcf c gjvjom.
htkt lfdktybz gjp= 3=1=

Yf pfdjlt_bpujnjdbntkt d yfgjhyjv ublhj,frt cjplftncz
gjlgjh pf cxtn yfuytnfybz d ytuj c;fnjuj djple[f- b
ublhj,fr hf,jnftn rfr htcbdth= "nj gjpdjkztn
bp,t;fnm dscjrjq xfcnjns gthtrk.xtybq yfcjcf ghb
ytpyfxbntkmyjv pf,jht djls bkb- cjjndtncndtyyj- gjnthm
djls d htpekmnfnt rfgktgfltybz=

Gjckt jrjyxfybz pf,jhf djls yfgjhysq ublhj,fr
cyfxfkf cyjdf pfgjkyztncz- lfdktybt djphfcnftn b gjckt
ljcnb;tybz ecnfyjdktyyjuj yf htkt gjp= 3=1 pyfxtybz
lfdktybz dsrk.xtybz ghjbc[jlbn jnrk.xtybt yfcjcf c
dslth;rjq dhtvtyb=

6=4=3 Htuekbhjdfybt lfdktybz

Ublhjvjyj CRE

J,jheljdfybt hfcgjkfuftn kbytqysv dsrk.xfntktv-
rjnjhsq yt cktletn drk.xfnm ,jktt 4 hfp d ltym=

Tckb ytj,[jlbvj xfcnjt drk.xtybt
b dsrk.xtybt yfcjcf- njulf
cktletn bcgjkmpjdfnm wbahjdjq
dytiybq ds[jl drk._#dsrk.xtybz
yfcjcf=

Tckb ghb pf,jht djls lfdktybt d
cbcntvt gflftn yb;t ghtldfhbntkmyj ecnfyjdktyyjuj
lfdktybz drk.xtybz- njulf c gjvjom. htkt lfdktybz
ghjbc[jlbn fdnjvfnbxtcrbq pfgecr yfcjcf b edtkbxtybt
rjkbxtcndf j,jhjnjd dhfotybz yfcjcf lj ye;yjuj
lfdktybz= 

"ktrnhjyyjt htkt eghfdktybz htuekbhetn rjkbxtcndj
j,jhjnjd dhfotybz yfcjcf d pfdbcbvjcnb jn rjkbxtcndf
gjlfdftvjq djls nfrbv j,hfpjv- xnj dtkbxbyf
pflfyyjuj lfdktybz jcnf/ncz gjcnjzyyjq=

"ktrnhjyyjt htkt eghfdktybz htubcnhbhetn
ytljcnfnjxyjt rjkbxtcndj gjlfdftvjq djls b ybprjt
rjkbxtcndj j,jhjnjd dhfotybz yfcjcf b gthtrk.xftn
yfcjc d oflzobq ht;bv hf,jns=

6=4=4 Ytljcnfnjxysq j,]tv gjp= 3=2- 3=3 
(ghbyflkt;yjcnb)

Vj;yj ds,hfnm ytcrjkmrj dfhbfynjd cbcntvs pfobns% 

6=4=4=1 Pfobnf jn gecrf $dce[e.$ c gjvjom. 
ytgjchtlcndtyyjuj drk.xtybz

Ublhjvjyj CR

Pfobnf jn gecrf $dce[e.$ ghb ytgjchtlcndtyyjv
drk.xtybb cj cnjhjys dcfcsdfybz jceotcndkztncz%

• C gjvjom. htkt lfdktybz gjp= 3=2= Ghb ds[jlt pf
yb;ytt pyfxtybt vjvtynf chf,fnsdfybz
j,jheljdfybt jnrk.xftncz c dslth;rjq dhtvtyb=
Rfr njkmrj lfdktybt cyjdf gjdsiftncz b ljcnbuftn
dth[ytuj pyfxtybz vjvtynf chf,fnsdfybz- ghjbc[jlbn
fdnjvfnbxtcrjt drk.xtybt j,jheljdfybz=

• C gjvjom. htkt lfdktybz d yfgjhyjq vfubcnhfkb=
Ghb nfrjv dfhbfynt j,jheljdfybt yt drk.xftncz
cyjdf fdnjvfnbxtcrb- f lkz tuj gecrf ytj,[jlbvj
bcgjkmpjdfnm gthtrk.xfntkm dblf hf,jn gjp= 2=1
(gjkj;tybt $Gecr$)= 

Ublhjvjyj CRE

• C gjvjom. htkt lfdktybz gjp= 3=2= Ghb ds[jlt pf
yb;ytt pyfxtybt vjvtynf chf,fnsdfybz
j,jheljdfybt jnrk.xftncz c dslth;rjq dhtvtyb=
Rfr njkmrj lfdktybt cyjdf gjdsiftncz b ljcnbuftn
dth[ytuj pyfxtybz vjvtynf chf,fnsdfybz- ghjbc[jlbn
fdnjvfnbxtcrjt drk.xtybt j,jheljdfybz= Yfcjc
hf,jnftn c htuekbhetvsv rjkbxtcndjv j,jhjnjd
dhfotybz=

6=4=4=2 Pfobnf jn gecrf $dce[e.$ c gjvjom. 
ytghzvjuj drk.xtybz= 

Ublhjvjyj CR

Pfobnf jn gecrf $dce[e.$ ghb ytghzvjv drk.xtybb cj
cnjhjys dcfcsdfybz jceotcndkztncz%

• c gjvjom. htkt gjp= 3=3 (ghbyflkt;yjcnb)
gjuhe;ys[ 'ktrnhjljd bkb

• c gjvjom. gjgkfdrjdjuj htkt gjp= 3=4
(ghbyflkt;yjcnb)=

Ghb ds[jlt pf yb;ytt ecnfyjdktyyjt pyfxtybt ehjdyz
j,jheljdfybt jnrk.xftncz= Rfr njkmrj ehjdtym djls
cyjdf gjdsiftncz lj nht,etvjuj pyfxtybz- ghjbc[jlbn
fdnjvfnbxtcrjt drk.xtybt j,jheljdfybz=

Ublhjvjyj CRE

• c gjvjom. htkt gjp= 3=3 (ghbyflkt;yjcnb)
gjuhe;ys[ 'ktrnhjljd bkb

• c gjvjom. gjgkfdrjdjuj htkt gjp= 3=4
(ghbyflkt;yjcnb)=

Ghb ds[jlt pf yb;ytt ecnfyjdktyyjt pyfxtybt ehjdyz
j,jheljdfybt jnrk.xftncz= Rfr njkmrj ehjdtym djls
cyjdf gjdsiftncz lj nht,etvjuj pyfxtybz- ghjbc[jlbn
fdnjvfnbxtcrjt drk.xtybt j,jheljdfybz= Yfcjc
hf,jnftn c htuekbhetvsv rjkbxtcndjv j,jhjnjd
dhfotybz=

DYBVFYBT
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6=4=5 Cbcntvf cbuyfkbpfwbb 
gjp= 2=4

Ublhjvjyj CR

• hf,jxbq ht;bv j,jheljdfybz bylbwbhetncz c
gjvjom. ,tkjq kfvgs gjp= 2=3 yf gthtlytq
ldthb cbcntvs eghfdktybz=

• fdfhbqysq cbuyfk bylbwbhetncz yf gthtlytq
ldthb cbcntvs eghfdktybz rfr j,obq
fdfhbqysq cbuyfk=  Rdbnbhjdfybt 'njuj cbuyfkf
c,jz dsgjkyztncz rkfdbitq c,hjcf  gjp= 2=4
(d[jlbn d ,kjr cbuyfkbpfwbb)

• gjntywbfkmyj cdj,jlyjt rdbnbhjdfybt cbuyfkf
c,jz yf rktvvyjq gfytkt

Ublhjvjyj CRE

• ytj,[jlbvjt lfdktybt bylbwbhetncz
cdtnjlbjljv

• gj jlyjve cdtnjlbjle lkz ht;bvf hf,jns b
lkz j,otuj fdfhbqyjuj cbuyfkf

• gjntywbfkmyj cdj,jlyjt rdbnbhjdfybt cbuyfkf
c,jz yf rktvvyjq gfytkt

Ublhjgfr

• cbuyfkmyfz kfvgf ht;bvf hf,jns b j,otuj
fdfhbqyjuj cbuyfkf

• cbuyfk yf[j;ltybz kbytqyjuj dsrk.xfntkz yf
rktvvyjq gfytkt

• gjntywbfkmyj cdj,jlyjt rdbnbhjdfybt cbuyfkf
c,jz yf rktvvyjq gfytkt

6=4=6 Gthtrk.xfntkm dblf hf,jn 
(0-AUTO-START) 
gjp= 2=1

• Vj;yj ds,hfnm nhb ht;bvf 'rcgkefnfwbb%
ghb ecnfyjdrt gthtrk.xfntkz d gjkj;tybt $0$
j,jheljdfybt jnrk.xftncz=

Gthtrk.xfntkm yt dsgjkyztn
hjkm kbytqyjuj dsrk.xfntkz=
Gthtl yfxfkjv ghjdtltybz hf,jn
gj nt[ybxtcrjve j,cke;bdfyb.
ytj,[jlbvj j,tcnjxbnm
j,jheljdfybt=

• Gjkj;tybt $Fdnjvfnbxtcrbq$% fdnjvfnbxtcrjt
drk.xtybt b jnrk.xtybt yfcjcf d pfdbcbvjcnb
jn yfuheprb=

• Gjkj;tybt $Gecr$% rhfnrjdhtvtyyjt
ieynbhjdfybt cbcntvs pfobns jn gecrf
$dce[e.$ cj cnjhjys yfuytnfybz- xnj,s
pfgecnbnm yfcjcysq fuhtufn- f nfr;t lkz
drk.xtybz hexyjuj ht;bvf 'rcgkefnfwbb bkb
bcgsnfntkmyjuj wbrkf=

6=4=7 Pfobnf 'ktrnhjldbufntkz

Ublhjvjyj CR/Ublhjgfr

• Lkz j,jheljdfybz lj 4-0 rDn bcgjkmpetncz
ntgkjdjq dsrk.xfntkm pfobns
'ktrnhjldbufntkz- lkz j,jheljdfybz jn 5-5 rDn
bcgjkmpetncz ntgkjdjt htkt pfobns
'ktrnhjldbufntkz (F2 cvjnhb 'ktrnhjc[tve)=

• Gjckt chf,fnsdfybz cbcntvs pfobns b
ecnhfytybz ytbcghfdyjcnb 'ktrnhjldbufntkz
ytj,[jlbvj yf;fnm rkfdbie c,hjcf yf
ntgkjdjv dsrk.xfntkt/htkt pfobns
'ktrnhjldbufntkz=

Ublhjvjyj CRE

Yfcjc yt ye;lftncz dj dytiytq ljgjkybntkmyjq
pfobnt 'ktrnhjldbufntkz= Jy pfoboty rfr jn
ytpfvtnyj djpybrf.ob[ ytpyfxbntkmys[ gthtuhepjr- nfr
b jn ,kjrbhjdrb= (IEC 34-11; TP211)

Dsrk.xtybt bp ctnb hfphtiftncz
ghjbpdjlbnm vfrcbvev 3_4 hfpf d
xfc=

Tckb ytj,[jlbvj xfcnjt drk.xtybt b dsrk.xtybt
yfcjcf- cktletn bcgjkmpjdfnm wbahjdjq dytiybq ds[jl
drk._ b dsrk.xtybz yfcjcf= Ghb ctntdjv drk.xtybb
yfcjc yfxbyftn hf,jnfnm xthtp 5 ctreyl=

7 Ecnfyjdrf # vjynf; 
j,jheljdfybz

7=1 Nht,jdfybz r vtcne ecnfyjdrb
Gjvtotybt lkz ecnfyjdrb j,jheljdfybz ljk;yj ,snm
ce[bv b [jhjij dtynbkbhetvsv- ljcneg d ytuj ljk;ty
,snm cdj,jlysq=
Rhjvt njuj- ytj,[jlbvj ghtlecvjnhtnm djpvj;yjcnm
cdj,jlyjuj ljcnegf r jnltkmysv epkfv b ltnfkzv
ecnfyjdrb= Lkz rhegyjuf,fhbnys[ yfcjcys[ fuhtufnjd-
d dble ,jkmijq vfccs jnltkmys[ epkjd- ytj,[jlbvj
j,tcgtxbnm djpvj;yjcnm bcgjkmpjdfybz lkz vjynf;f b
ltvjynf;f uhepjgjl]tvyjuj j,jheljdfybz (gjldtcys[
,kjrjd c rh.rfvb- ytceob[ ,fkjr)=

C,jhrf b 'ktrnhjvjynf; yfcjcyjq ecnfyjdrb
dsgjkytys bpujnjdbntktv d cjjndtncndbb c lfyysvb
pfrfpf- b jyf gjxnb gjkyjcnm. ujnjdf r gjlrk.xtyb.=

Vjynf; jceotcndkztncz kb,j cgtwbfkbcnfvb abhvs
UHEYLAJC- kb,j ghjitlibvb cgtwbfkmye.
gjlujnjdre cgtwbfkbcnfvb ghtlghbznbq- bvt.ob[
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ljgecr yf ghjdtltybt vjynf;ys[ hf,jn- rjnjhst
dsgjkyz.n nfr;t gthdjyfxfkmysq gecr yfcjcyjq
ecnfyjdrb d 'rcgkefnfwb.=

Ghtldfhbntkmyj ytj,[jlbvj j,tcgtxbnm ljcnfnjxyj
cdj,jlyjuj vtcnf d pjyt ecnfyjdrb j,jheljdfybz- f
nfr;t dsgjkytybz cktle.ob[ eckjdbq%

• yfkbxbt [jhjitq dtynbkzwbb+

• gjlrk.xtybt lhtyf;yjq vfubcnhfkb+

• gjvtotybt ljk;yj pfgbhfnmcz yf pfvjr+

• gjvtotybt yt ljk;yj bcgjkmpjdfnmcz lkz
lheub[ wtktq+

• yt ds,bhfnm lkz vjynf;f gjvtotybt-
ytgjchtlcndtyyj cjctlcnde.ott cj cgfkmysvb b
;bksvb gjvtotybzvb+

• gjdth[yjcnm gjkf bkb aeylfvtynf ljk;yf ,snm
hjdyjq=

Gthtl yfxfkjv hf,jn ghjdthbnm
dsgjkytybt dct[ ytj,[jlbvs[
nt[ybxtcrb[ eckjdbq-
rfcf.ob[cz rfr vtcnf
vjynf;f- nfr b cfvjq yfcjcyjq
ecnfyjdrb (cvjnhb abhvtyye.
nf,kbxre c nt[ybxtcrbvb
[fhfrnthbcnbrfvb)=

Lkz rhtgktybz ecnfyjdrb HYDROMONO r gjke
bcgjkmpe.ncz jndthcnbz d wjrjkt jcyjdfybz=

Xnj,s j,tcgtxbnm [jhjibq ljcneg r j,jheljdfyb. b r
tuj jnltkmysv epkfv- ytj,[jlbvj ghtlecvjnhtnm
ljcnfnjxyj cdj,jlyjuj ghjcnhfycndf d vtcnt ecnfyjdrb
j,jheljdfybz (cvjnhb hfpvths d hfpltkt 5=4)=

Lkz j[kf;ltybz 'ktrnhjldbufntkz ljk;ty ,snm
j,tcgtxty ljcnfnjxysq ghbnjr djple[f=

Yfghfdktybt gjnjrf hf,jxtq ;blrjcnb erfpfyj
cnhtkrfvb yf jcyjdfybb yfcjcf=

Lkz ecnhfytybz ievf- djpybrf.otuj ghb hf,jnt
yfcjcf- vj;yj ecnfyjdbnm rjvgtycfnjhs cj cnjhjys
dcfcsdf.otuj b yfgjhyjuj nhe,jghjdjljd- f ecnfyjdre
yfcjcyjuj fuhtufnf dsgjkybnm c ghbvtytybtv
db,hjufczob[ jgjh vt;le aeylfvtynjv b yfcjcjv=

7=2 Gjlrk.xtybt nhe,jghjdjljd
Yf d[jlt yfcjcyjuj fuhtufnf htrjvtyletncz ecnfyjdbnm
pfgjhysq dtynbkm (vjynbhetncz pfrfpxbrjv)= Pfgjhysq
dtynbkm lkz yfgjhyjq vfubcnhfkb d[jlbn d j,]/v
gjcnfdrb= Ecnfyjdrf 'nb[ dtynbktq gjpdjkztn bp,t;fnm
ytj,[jlbvjcnb ckbdf bp yfcjcyjuj fuhtufnf hf,jxtq
;blrjcnb d ckexft djpvj;yjq ghjvsdrb- htvjynf bkb
pfvtys yfcjcf=
Nhe,jghjdjls ljk;ys ghjrkflsdfnmcz nfrbv j,hfpjv-
xnj,s ecnhfybnm djpvj;yjcnm crfgkbdfybz djple[f d
yb[= D jcj,tyyjcnb 'nj rfcftncz dcfcsdf.otuj
nhe,jghjdjlf=

Cjtlbytybt nhe,jghjdjljd c yfcjcysv fuhtufnjv
ljk;yj dsgjkyznmcz nfr- xnj,s yt djpybrfkj
yfghz;tybq d epkf[ fuhtufnf- d ghjnbdyjv ckexft 'nj
vj;tn gjdkbznm yf tuj aeyrwbjybhjdfybt=

Lkbyyst exfcnrb nhe,jghjdjlf yf d[jlt b yf ds[jlt
yfcjcyjuj fuhtufnf ljk;ys rhtgbnmcz
cjjndtncnde.obv j,hfpjv=

Htpm,jdst cjtlbytybz cktletn egkjnyznm c gjvjom.
cjjndtncnde.otuj uthvtnbpbhe.otuj vfnthbfkf=

7=2=1 Vby= lfdktybt dgecrf

Jghtltkztncz cjukfcyj [fhfrnthbcnbrb LGYD b
ghbvthfv hfcxtnf (cvjnhb herjdjlcndj gj 'rcgkefnfwbb
lkz yfcjcf CR/CRE)=

7=2=2 Vfrc= lfdktybt dgecrf

Lfdktybt dgecrf + lfdktybt
yfuytnfybz yfcjcf = lfdktyb.
ecnfyjdrb=

Ghb ytj,[jlbvjcnb ecnfyjdbnt
htlerwbjyysq rkfgfy=

<jktt gjlhj,yfz byajhvfwbz cjlth;bncz d
nf,kbwt herjdjlcndf gj 'rcgkefnfwbb yfcjcf
CR/CRE=

7=3 Gjlrk.xtybt 
'ktrnhjj,jheljdfybz

Gjlrk.xtybt 'ktrnhjj,jheljdfybz ghjbpdjlbncz
cgtwbfkbcnjv d cjjndtncndbb c ghtlgbcfybzvb vtcnyjuj
'ythujcyf,;f.otuj ghtlghbznbz bkb cjukfcyj
ghtlgbcfybzv VDE=

• Lkz ghtlj[hfytybz b pfobns rf,tkz
gjlrk.xtybz ctntdjuj gbnfybz ytj,[jlbvj- d
cjjndtncndbb c gjgthtxysv ctxtybtv rf,tkz-
ghjdtcnb vthjghbznbz- erfpfyyst d VDE 100=

A
 2

13
 0

7 
94

300vv

Hfccnjzybt lj cntys = 300 vv

ERFPFYBT
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• J,jheljdfybt HYDROMONO gjcnfdkztncz c
gjkyjcnm. ghjdtltyysv 'ktrnhjvjynf;tv=

• Cktlbnt pf ntv- xnj,s 'ktrnhbxtcrbt
gfhfvtnhs- erfpfyyst yf abhvtyyjq nf,kbxrt-
cjdgflfkb c bvt.obvcz 'ythujcyf,;tybtv=

• Ytn ytj,[jlbvjcnb dj dytiytq pfobnt
'ktrnhjldbufntkz= Ghtlj[hfybntkb kbybb
gbnf.otq ctnb ecnfyfdkbdf.ncz pfrfpxbrjv=

• Gjlrk.xtybt dsgjkyztncz cjjndtncndtyyj
ghbkfuftvjq 'ktrnhjc[tvt=

7=3=1 Gjlrk.xtybt 
'ktrnhjj,jheljdfybz d yfcjcys[ 
ecnfyjdrf[ c yfcjcfvb nbgf CRE

Tckb r yfcjce gjlrk.xtyj
'ktrnhbxtcrjt ecnhjqcndj c
ghtlj[hfybntkmysvb
dsrk.xfntkzvb lkz
ljgjkybntkmyjq pfobns- njulf jyb
cjukfcyj ghtlgbcfybzv 0664 VDE
ljk;ys chf,jnfnm rfr d ckexft
gjzdktybz gthtvtyyjuj njrf d ctnb
gbnfybz- nfr b ghb rjkt,fybz[
pyfxtybq d gekmcbhe.otv b
ukflrjv gjcnjzyyjv njrt= 

D rfxtcndt ljgjkybntkmyjq pfobns
vj;tn bcgjkmpjdfnmcz pfptvktybt-
pfyektybt bkb ghtlj[hfybntkmysq
dsrk.xfntkm d ckexft gjzdktybz
yfghz;tybz- jnkbxyjuj jn
pflfyyjuj=

Gthtl rf;lsv hfcrhsnbtv
rktvvyjq rjhj,rb yfcjcf cktletn
jnrk.xbnm vbybvev yf 5 vbyen
yfghz;tybt 'ktrnhjcyf,;tybz=

Gjlrk.xtybz
Tckb ytn dytiytuj
ghtlj[hfybntkmyjuj
drk._#dsrk.xfntkz- cktletn
gthtvryenm pf;bvs 2 b 3=
Cjukfcyj ghfdbkfv nt[ybrb
,tpjgfcyjcnb ljk;ys ,snm
ufkmdfybxtcrb jnltktys lheu jn
lheuf 'ktrnhjghjdjlrb
cktle.ob[ uhegg gjlrk.xtybz
ctntdjuj gbnfybz yf dc/v b[
ghjnz;tybb ghb gjvjob
ecbktyyjq bpjkzwbb% 
1= D[jls (dytiytuj dsrk_#
drk.xtybz- wbahjds[ aeyrwbq-
cbuyfkjd pflfyys[ pyfxtybq b
lfnxbrjd cbuyfkjd- 1-8 Y, B)
2= Ds[jl (htkt fdfhbqyjuj cbuyfkf-
NC, NO, C)
3= Yfghz;tybt d ctnb gbnfybz (L1,
L2, L3)

Dct d[jls (uheggf 1) jnltktys jn jn[jlzob[ jn ctnb
xfcntq b exfcnrjd ghb gjvjob ecbktyyjq bpjkzwbb=

Nbg bpjkzwbb% PELV

Ds[jl (uheggf 2) jnltkty ufkmdfybxtcrb jn lheub[
wbrkjd= Gj'njve xthtp 'njn gjntywbfkmyj cdj,jlysq
ds[jl d ckexft ytj,[jlbvjcnb vj;tn ,snm dsdtltyj
rfr ctntdjt yfghz;tybt lj 250 D- nfr b ybprjt
ghtlj[hfybntkmyjt yfghz;tybt=

D njv ckexft- tckb ybprjt ghtlj[hfybntkmyjt
yfghz;tybt gjlrk.xtyj r ds[jle (htkt fdfhbqyjuj
cbuyfkf)- njulf ljgjkybntkmyjt ecbktyyjt bpjkbhjdfybt
ytj,[jlbvj kbim cj cnjhjys yfghz;tybz
'ythujcyf,;tybz (uheggf 3)=

Gjlrk.xtybz lkz%

• dytiytuj gjntywbfkmyj cdj,jlyjuj rjynfrnf

• dytiytuj htuekbhjdfybz vjvtynf
drk._#dsrk.xtybz

• wbahjds[ aeyrwbq

• dytiytuj cbuyfkf pflfyyjuj pyfxtybz

• cbuyfkf lfnxbrf

• cbuyfkf cjj,otybz

d MGE 90 b MGE 100

d MGE 112 b MGE 132
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Rf,tkm

Lkz dytiytuj ghtlj[hfybntkmyjuj drk._#dsrk.xfntkz-
d[jlf wbahjds[ aeyrwbq- f nfr;t lfnxbrjd pflfyys[
pyfxtybq b cbuyfkjd cktletn ghbvtyznm 'rhfybhjdfyysq
rf,tkm=

Pfobnf rf,tkz ljk;yf ,snm dsgjkytyf yt yf lde[
rjywf[- f kbim c jlyjq cnjhjys yf cjtlbytybb c
vfccjq yfcjcf=

Ghb 'rhfybhjdfybb rf,tkz ytj,[jlbvj j,hfnbnm
jcj,jt dybvfybt yf [jhjitt cjtlbytybt c vfccjq=
”rhfybhjdfybt ljk;yj ,snm ghjkj;tyj rfr vj;yj
gkjnytt r cjtlbybntkmysv pf;bvfv=

Lkz cjtlbytybz gjlfxb cbuyfkjd cktletn bcgjkmpjdfnm
'rhfybhjdfyysq 2_ghjdjlysq rf,tkm= ”rhfybhjdfybt
ljk;yj ,snm jceotcndktyj c j,jb[ rjywjd b
gjlrk.xtyj yf pf;bvY=

Ecnfyjdjxyst pyfxtybz yfcjcf

Ghbdtltyyjt dybpe jgbcfybt ecnfyjdktybz pyfxtybq
yfcjcf vj;tn ,snm jceotcndktyj ghb gjvjob
rkfdbfnehs j,cke;bdfybz yf rktvvyjq rjhj,rt
yfcjcf=

Pfdjlcrbt htuekbhjdrb yfcjcjd ecnfyjdktys yf
gjcnjzyyjt lfdktybt yfcjcjd nbgf T c byntuhbhjdfyysv
lfnxbrjv lfdktybz= Yfcjcs d j,jheljdfybb lkz
gjdsitybz lfdktybz jcyfotys dbljv pfdjlcrjq
htuekbhjdrb $Gjcnjzyyjt lfdktybt$- d rjnjhjv jyb b
ecnfyjdktys=

Ghb nfrjv dblt htuekbhjdrb lfdktybt pf yfcjcjv
elth;bdftncz gjcnjzyysv ytpfdbcbvj jn gjlfdftvjq
hf,jxtq chtls%

Gjcnjzyyjt lfdktybt

Gjvbvj htuekbhetvjuj ht;bvf vj;tn ,snm ds,hfy
jlby bp cktle.ob[ dbljd ht;bvf hf,jns% CNJG-
VBYBVEV bkb VFRCBVEV%

Tckb jnrk.xtyj yfghz;tybt 'ythujcyf,;tybz-
ecnfyjdjxyst lfyyst yfcjcf cj[hfyz.ncz=

Lfkmytqibt djpvj;yjcnb ecnfyjdktybz
htuekbhjdjxys[ pyfxtybq vjuen ,snm jceotcndktys ghb
gjvjob lbcnfywbjyyjuj eghfdktybz R100 (cvjnhb
bycnherwb. gj 'rcgkefnfwbb yfcjcf nbgf CRE)=

Htuekbhjdrf ghb gjvjob rkfdbfnehs
j,cke;bdfybz

Rkfdbfnehf j,cke;bdfybz- hfcgjkj;tyyfz yf
rktvvyjq rjhj,rt- hfcgjkfuftn cktle.obvb
aeyrwbzvb b 'ktvtynfvb j,cke;bdfybz%

Rkfdbib j,cke;bdfybz $+$ b $_$ _lkz ecnfyjdrb
pflfyys[ pyfxtybq=

$;/knsq$ _ lkz gjrfpfybz pflfyyjuj pyfxtybz=

T
M

00
76

67
16

96
T

M
00

76
01

15
96

T
M

00
76

81
69

6

Q

H

setH

H

Q

Min.

Maks.

T
M

00
55

47
09

95

MAX.

MIN.
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Cbuyfkmyfz kfvgf $ptk/ysq$ = d 'rcgkefnfwbb-
$rhfcysq$= $ytbcghfdyjcnm$=

Htuekbhjdrf pflfyys[ pyfxtybq

Bpvtytybt pfdjlcrjq htuekbhjdrb pflfyyjuj pyfxtyybz
ddth[ bkb dybp jceotcndkztncz yf;fnbtv rkfdbib$+$
bkb $_$=

Cdtnzobtcz gjkz yf rkfdbfneht j,cke;bdfybz
gjrfpsdf.n ecnfyjdktyyjt cjcnjzybt=

Drk._#dsrk.xtybt yfcjcf

C wtkm. dsrk.xtybz yfcjcf yf;vbnt yf rkfdbie $_$b
lth;bnt t/ lj nt[ gjh- gjrf yt gjufcyen dct
cdtnzobtcz gjkz- f ptk/yfz cbuyfkmyfz kfvgf yt yfxy/n
vbufnm=

Lkz drk.xtybz yfcjcf cktletn yf;fnm yf rkfdbie $+$
b ;lfnm- gjrf yt gjzdbncz ye;yjt pflfyyjt pyfxtybt=

Ljgjkybntkmyst djpvj;yjcnb cvjnhb%
herjdjlcndj gj 'rcgkefnfwbb yfcjcf CRE=

8 Ddjl d 'rcgkefnfwb. # 
cyznbt c 'rcgkefnfwbb

8=1 Vthjghbznbz- ghtlitcnde.obt
gthdjyfxfkmyjve ddjle d 
'rcgkefnfwb.

Lkz dsgjkytybz cktle.ob[ hf,jn ghtlgjkfuftncz- xnj
e;t dsgjkyty vjynf; j,jheljdfybz HYDROMONO d
vtcnt tuj ecnfyjdrb- f nfr;t r yfcjce gjlrk.xtys
dcfcsdf.ofz b yfgjhyfz vfubcnhfkb=

8=1=1 Pfgjkytybt cbcntvs

Gthtl ddjljv d 'rcgkefnfwb. ublhjcbcntvf
j,zpfntkmyj ljk;yf ,snm pfgjkytyf hf,jxtq
chtljq=
D pfvryens[ bkb jnrhsns[ cbcntvf[- d rjnjhs[ dj
dcfcsdf.otq vfubcnhfkb yfcjcf bvttncz gjlgjh-
pfrhsnm pfgjhysq dtynbkm d yfgjhyjq vfubcnhfkb
yfcjcf b cyznm ghj,re pfkbdjxyjq ujhkjdbys d
ujkjdyjq xfcnb yfcjcf=
Vtlktyyj jnrhsdfnm pfgjhysq dtynbkm dj
dcfcsdf.otq vfubcnhfkb lj nt[ gjh- gjrf hf,jxfz
chtlf yt yfxytn ds[jlbnm xthtp pfkbdjxye.
ujhkjdbye=
Cyjdf ddthyenm ghj,re pfkbdjxyjq ujhkjdbys b
ghjxyj pfnzyenm tt= Gjkyjcnm. jnrhsnm pfgjhyst
dtynbkb (,jktt gjlhj,yfz byajhvfwbz cjlth;bncz
d herjdjlcndt gj 'rcgkefnfwbb yfcjcf CR)=

8=1=2 Lfdktybt gjlgbnrb d yfgjhyjv 
ublhj,frt

Lfdktybt gjlgbnrb d yfgjhyjv ublhj,frt gjp= 1
ghjdthztncz b htuekbhetncz d cjjndtncndbb c
erfpfybzvb d hfpltkt 9=6=

8=1=3 Gthdjyfxfkmysq ddjl d 
'rcgkefnfwb.

• Drk.xbnm 'ktrnhjgbnfybt jn ctnb=
Gthtl drk.xtybtv ecnfyjdrb ytj,[jlbvj
gjkyjcnm. jnrhsnm pfgjhysq dtynbkm yf
dcfcsdf.otq cnjhjyt yfcjcf= Nht,etvjt
vbybvfkmyjt lfdktybt ljk;yj ,snm d yfkbxbb=

• C gjvjom. kbytqyjuj dsrk.xfntkz gjp= 2=2#
bkb gthtrk.xfntkz dblf hf,jn gjp= 2=1
ecnfyjdbnm d gjkj;tybt $Fdnjvfnbxtcrbq
ht;bv$= Vtlktyyj lj rjywf jnrhsnm pfgjhysq
dtynbkm d yfgjhyjq vfubcnhfkb=

• Jnrhsnm djljhfp,jhysq rhfy% yfcjc drk.xftncz=

T
M

00
76

00
11

96

cdtnzottcz 

ptk/ysq rhfcysq rkfdbib 

nf,kj

j,cke;bdfybz

T
M

00
77

43
18

96
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• Ghjdthbnm yfghfdktybt dhfotybz yfcjcf%
cjjndtncnde.obt cnhtkrb yf[jlzncz yf
ujkjdyjq xfcnb yfcjcf- f nfr;t yf rj;e[t
dtynbkznjhf 'ktrnhjldbufntkz= Ghb
ytj,[jlbvjcnb- bpvtybnm tuj- gjvtyzd lkz 'njuj
vtcnfvb gjlrk.xtybt afpys[ ghjdjljd=

• Pfrhsnm djljhfp,jhysq rhfy% yfcjc
jnrk.xbncz c dslth;rjq dhtvtyb=

• Ghjdthbnm nht,etvst pyfxtybz vjvtynf
drk.xtybz b dsrk.xtybz b- tckb ytj,[jlbvj-
jnrjhhtrnbhjdfnm b[ c gjvjom. htkt lfdktybz
gjp= 3=1=
Ghb 'njv ytj,[jlbvj ,eltn extcnm djpvj;yjt
bpvtytybt lfdktybz gjlgbnrb d yfgjhyjv
ublhj,frt (cvjnhb hfpltk 9=6)= 
Gjckt njuj- rfr ghjnbdjgj;fhyjt j,jheljdfybt
HYDROMONO ,skj cvjynbhjdfyj b drk.xtyj
cjukfcyj ghtlgbcfybzv- yt nht,etncz ybrfrjuj
j,cke;bdfybz yfcjcyjuj fuhtufnf=
J,jheljdfybt hf,jnftn fdnjvfnbxtcrb b
fdnjvfnbxtcrb drk.xftncz bkb dsrk.xftncz gj
vtht yflj,yjcnb=

Gjckt dsgjkytybz
gthdjyfxfkmyjuj ddjlf d
'rcgkefnfwb. yfcjcs b nhe,yst
cjtlbytybz ytj,[jlbvj
ghjdthbnm yf uthvtnbxyjcnm=

Yb d rjtv ckexft yt ljk;yj
ghjbc[jlbnm ghtdsitybt vfrc=
ljgecnbvjuj hf,jxtuj lfdktybz-
pyfxtybt rjnjhjuj erfpfyj yf
abhvtyyjq nf,kbxrt c
nt[ybxtcrbvb [fhfrnthbcnbrfvb@

8=2 Cyznbt c 'rcgkefnfwbb
Jnrk.xbnt ecnfyjdre HYDROMONO c gjvjom.
gthtrk.xfntkz dblf hf,jn gjp= 2=1 bkb kbytqyjuj
dsrk.xfntkz gjp= 2=2
Tckb bvt.ncz dytiybt ghtlj[hfybntkb- nj b[ cktletn
dsyenm= Pfrhsnm pfgjhyst dtynbkb dj dcfcsdf.otq b d
yfgjhyjq vfubcnhfkz[=

8=2=1 Pfobnf jn dkbzybz jnhbwfntkmys[ 
ntvgthfneh

Ghb cbkmyjv vjhjpt b jgfcyjcnb
pfvthpfybz ecnfyjdrb
ytj,[jlbvj ckbnm bp yfcjcyjuj
fuhtufnf dc. ;blrjcnm=

<jktt gjlhj,yfz byajhvfwbz cjlth;bncz d herjdjlcndt
gj 'rcgkefnfwbb yfcjcf CR- hfpltk 7=

9 Pfdjlcrbt htuekbhjdrb b 
bpvtytybt pfdjlcrb[
htuekbhjdjr

Bpvtytybt jcyjdyjq htuekbhjdrb
ytj,[jlbvj kbim d njv ckexft-
tckb pfdjlcrfz htuekbhjdrf
pyfxtybq lfdktybz yt d cjcnjzybb
eljdktndjhbnm cgtwbabxtcrb[
nht,jdfybq pfrfpxbrf= Bpvtytybt
htuekbhjdrb htkt lfdktybz
(pyfxtybz lfdktybz drk.xtybz)
dctulf ghbdjlbn r ytj,[jlbvjcnb
bpvtyznm cjjndtncnde.obv
j,hfpjv lfdktybt gjlgjhf d
yfgjhyjv ublhj,frt=

9=1 C[tvf yfcjcyjq ecnfyjdrb lkf 
Ublhjvjyj nbgf CR

Y0 = dscjnf gjlfxb ghb Q0

Hdsr = vjvtyn dsrk.xtybz
Hdrk = vjvtyn drk.xtybz
YN = dscjnf gjlfxb ghb Qvfrc=

Ygjlgjh = lfdktybt gjlgjhf yfgjhyjuj ublhj,frf

9=2 Pfdjlcrfz htuekbhjdrf vjvtynf 
chf,fnsdfybz

c yfcjcfvb nbgf CR

• Vjvtyn jnrk.xtybz Hdsrk jnhtuekbhjdfy yf
vfrc= ljgecnbvjt pyfxtybt lkz ghbvtyztvjuj
nbgf yfcjcf 

HDsrk = Ygjlgjh + (Yj [ 0-9)
Ygjlgjh _ ecnfyjdktyj yf pfdjlt%
1-5 ,fh (ytghzvjt gjlr.xtybt)
0-5 ,fh (ytgjchtlcndtyyjt gjlrk.xtybt)

DYBVFYBT

Y(V)

Y0

YE

YN

Hdsr
Hdrk HDsr Lbfgfpjy

htuekb-
hjdrbLfdktybt gjlgjhf 

gj nf,kbwt PEvby

Ygjlgjh Q (v3#x)

A
 0

05
10

92
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Hfpyjcnm h vby vt;le pyfxtybzvb vjvtynf
drk.xtybz Hdrk b vjvtynf dsrk.xtybz Hdsrk
ecnfyfdkbdftncz- d pfdbcbvjcnb jn nbgf yfcjcf-
cktle.obv j,hfpjv%

• Vjvtyn drk.xtybz Hdrk = Hdsrk _ h

• Lfdktybt gjlgjhf d lbfahfuvtyyjv yfgjhyjv
ublhj,frt kt;bn ghbvthyj yf 10 % yb;t njxrb
drk.xtybz Hdrk 
(Hdrk [ 0-9 = lfdktyb. gjlgjhf yfgjhyjuj
ublhj,frf)=

9=3 Bpvtytybt pfdjlcrjq htuekbhjdrb
Htuekbhjdrb dsgjkyz.ncz
njkmrj cgtwtwbfkbcnfvb gjckt
njuj- rfr ,skj ecnfyjdktyj- xnj
j,jheljdfybt yt yf[jlbncz gjl
yfghz;tybtv@

Gthtl yfcnhjqrjq nht,etvjuj
pyfxtybz lfdktybz drk.xtybz
bkb dsrk.xtybz ytj,[jlbvj
cjjndtncnde.obv j,hfpjv
jnhtuekbhjdfnm gjlgjh
yfgjhyjuj ublhj,frf (cvjnhb
hfpltk 9=6)=

• Yfcnhjtyyst pyfxtybz lkz Hdrk b Hdsrk vjuen yf
vtcnt 'rcgkefnfwbb ecnfyjdrb bpvtyznmcz d
cnjhjye gjyb;tybz=

• Hfpyjcnm vt;le vjvtynfvb drk.xtybz b
dsrk.xtybz h jcnftncz ghb 'njv- rfr
ghfdbkj- ytbpvtyyjq (cv= nf,kbwe d hfpltkt 9=2)=

• Cktletn j,hfofnm dybvfybt yf nj- xnj
ytljgecnbv ds[jl pf vbybvfkmyjt pyfxtybt
lfdktybz drk.xtybz Hdrk vby% 
Hdrk vby = YN + Y gjlgjhf

• D pfrk.xtybb ghjdtcnb rjynhjkm aeyrwbjybhjdfybz
cbcntvs b vjvtynjd drk.xtybz b dsrk.xtybz
yfcjcf=

• Yfrktbnm yjde. nf,kbxre c
cjjndtncnde.obvb ecnfyjdktyysvb pyfxtybzvb
yf ldthm hfcghtltkbntkmyjuj 'ktrnhjirfaf b
yf lbfahfuvtyysq yfgjhysq ublhj,fr=

9=3=1 Ghbvths htuekbhjdrb lkz%

HYDROMONO CR 4 _ 100- ytgjchtlcndtyyjt
gjlrk.xtybt

9=3=2 Ghtwbpbjyyfz htuekbhjdrf htkt 
lfdktybz yf vtcnt 'rcgkefnfwbb

• Pfdjlcre. yfcnhjqre cvjnhb yf irfkt bkb yf
nf,kbxrt- yfrkttyyjq yf ldthb
hfcghtltkbntkmyjuj 'ktrnhjirfaf=

• Ecnfyjdbnm nht,etvjt vfrcbvfkmyjt pyfxtybt
lfdktybz chf,fnsdfybz Hdsrk=

• Ecnfyjdbnm nht,etvjt vbybvfkmyjt pyfxtybt
lfdktybz chf,fnsdfybz Hdrk=
Bylbrfwbz gj ptktyjq cnhtkrt+ dcktlcndbt
'njuj vfrcbvfkmyjt pyfxtybt lfdktybz
chf,fnsdfybz yt bpvtyztncz=

• <jktt gjlhj,ye. bbajhvfwb. cvjnhb d
ghbkfuftvjv herjdjlcndt=

• D pfrk.xtybb ghjrjynhjkbhjdfnm vjvtyns
chf,fnsdfybz drk.xtybz b dsrk.xtybz gentv
chfdytybz 'nb[ pyfxtybq gj irfkfv htkt b
vfyjvtnhf=

Yb d rjtv ckexft yt ljk;yj
ghjbc[jlbnm ghtdsitybt vfrc=
ljgecnbvjuj hf,jxtuj lfdktybz-
pyfxtybt rjnjhjuj erfpfyj yf
abhvtyyjq nf,kbxrt c nt[ybxtcrbvb
[fhfrnthbcnbrfvb@

Vjvtyn drk.xtybz Hdrk = Hdsrk _ h
Lfdktybt gjlgjhf d lbfahfuvtyyjv yfgjhyjv
ublhj,frt kt;bn ghbvthyj yf 10 % yb;t njxrb
drk.xtybz Hdrk=
(Hdrk [ 0-9 = lfdktyb. gjlgjhf yfgjhyjuj ublhj,frf)=

9=4 Pfobnf jn gecrf $dce[e.$
Pfobnf jn gecrf $dce[e.$ htuekbhetncz- d pfdbcbvjcnb
jn cbcntvs (rjynhjkm yfkbxbz gjlgjhf bkb ehjdyz
djls)- c gjvjom. yfcnhjqrb lfnxbrf yf nht,etvjt
pyfxtybt (cvjnhb cjjndtncnde.ott herjdjlcndj)=

Rjytxyjt lfdktybt ecnfyjdrb h vby
Lj 2 ,fh 0-5 ,fh
jn 2 lj 4 ,fh 1-0 ,fh
jn 4 lj 6 ,fh 1-5 ,fhf
jn 6 lj 9 ,fh 2-0 ,fhf
jn 9 lj 16 ,fh 3-0 ,fhf
cdsit 16 ,fh 4-0 ,fhf

DYBVFYBT

Ygjlgjh = 1-5

HDsrk = Ygjlgjh + (Yj [ 0-9)

= 1-5 + (9-8 [ 0-9)

= 10-3 ,fh

HDrk = HDsrk_ hvby

= 10-3 _ 3

= 7-3 ,fh

Bp,snjxyjt lfdktybt 
gjlgjhf

= HDsrk [ 0-9

= 7-3 [ 0-9

= 6-6 ,fh
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9=5 Pfdjlcrfz htuekbhjdrf dslth;rb dhtvtyb lkz Ublhjvjyj CR/Ublhjgfr 
(cvjnhb 'ktrnhjyyjt ecnhjqcndj gjp=2 b ghbkfuftve. 'ktrnhjc[tve)

9=6 Pfdjlcrfz htuekbhjdrf Ublhjvjyj 
CRE

9=6=1 C[tvf htuekbhjdrb lfdktybz

Y hfpyjcnm vt;le lfdktybtv drk.xtybz b lfdktybtv
dsrk.xtybz=

Y ecnfyfdkbdftncz yf pfdjlt ghbvthyj yf 10% yb;t
frnefkmyjuj pflfyyjuj pyfxtybz njxrb drk.xtybz=

Y djpvj;yj ecnfyjdbnm d lbfgfpjyt vt;le 5% b
30% frnefkmyjuj pflfyyjuj pyfxtybz njxrb drk.xtybz=

Lfdktybt gjlgjhf d
lbfahfuvtyyjv yfgjhyjv
ublhj,frt kt;bn ghbvthyj yf 30%
yb;t njxrb drk.xtybz= (Hdrk [ 0-7
= lfdktyb. gjlgjhf yfgjhyjuj
ublhj,frf)=

9=6=2 Jcyjdyst htuekbhjdrb lfdktybz lkz 
Ublhjvjyj CRE

(C gjvjom. rjvgm.nthf bkb lbcnfywbjyyjuj
eghfdktybz R100 ecnfyjdbnm d vty. rjvfyle
$htuekbhjdrb$)=

Dbl htuekbhjdrb% yfcnhjty

Ecnfyjdrf htuekznjhf% Kp = 05 Ti = 0-5

tckb yfcjcyjt ecnhjqcndj hf,jnftn ytecnjqxbdj- njulf
cktletn bpvtybnm htuekbhjdrb pyfxtybq cktle.obv
j,hfpjv%

• drk.xbnm yfcjc b yfcnhjbnm yfcjcye.
ecnfyjdre nfr- xnj,s jyf yf[jlbkfcm d
nbgbxyjv ht;bvt 'rcgkefnfwbb=

• pyfxtybt dhtvtyb d[jlf d 'rcgkefnfwb. (Ti)
ecnfyjdbnm yf 3600 ctr=

• edtkbxbdfnm yfuhepre (Kp ) yf yfcjc lj nt[ gjh-
gjrf tuj ht;bv hf,jns cnfytn ytecnjqxbd- n= t=
frnefkmyjt pyfxtybt yfxy/n dfhbbhjdfnm ( pf
cx/n bpvtytybz rjkbxtcndf j,jhjnjd dhfotybz
yfcjcf)=

• evtymibnm yfgjkjdbye pyfxtybt yfuheprb (Kp )
yf yfcjc- ghb rjnjhjv jy hf,jnfk ytcnf,bkmyj=
Nfrbv j,hfpjv yfuheprf jnhtuekbhjdfyf=

• cjrhfnbnm byntuhfwbjyyjt dhtvz yfcjcf (Ti)-
gjrf jy cnfytn ytecnjqxbd=

• gjkextyyjt pyfxtybt dhtvtyb d[jlf d
'rcgkefnfwb. (Ti)- ghb rjnjhjv yfcjc hf,jnftn
ytcnf,bkmyj- evtymibnm yfgjkjdbye= Ntgthm
nfqvth nj;t yfcnhjty=

Aeyrwbz Rjvvenfw='ktvtyn
(cvjnhb 'ktrnhjc[tve)

Htuekbhjdrb Ds,hfyyjt pyfxtybt 
dhtvtyb

Gfhfvtnh 
htuekbhjdrb

ybp dth[ Gthtlyzz gfytkm

S1 S2 S3

1= Jnrk.xtybt c 
dslth;rjq 
dhtvtyb 
htuekbhjdfybz 
lfdktybz

K3 D D D 60 ctr 1

2=Dslth;rf 
dhtvtyb ghb 
chf,fnsdfybb 
pfobns jn 
gecrf "dce[e."

K8=1 D F D 20 ctr 3-3

3=Bcgsnfntkmysq 
wbrk

K9 (htkt ghthsdfybz) F D D 5 ctr 5

Nfqvth H1 – – – 1x24 xfcf

T
M

00
77

44
18

96

Y(v)

Lfdktybt dsrk.xtybz
Gjcnjzyyjt lfdktybtY

Lfdktybt dsrk.xtybz

Q (v3#x)

DYBVFYBT
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Dytiybq cbuyfk pflfyyjuj pyfxtybz 4_20 vF

(fyfkjubxysq cbuyfk lfnxbrf lfdktybz cj cnjhjys
lfdktybz)

Ds,jh dblf htkt fdfhbqyjuj cbuyfkf- ht;bvf hf,jns
bkb gjlfxb cjj,otybz% ht;bv hf,jns

Rkfdbib yf yfcjct% frnbdbhjdfys

lkz ecnfyjdrb pflfyyjuj pyfxtybz lfdktybz

Wbahjdjq d[jl% dytiyzz ytbcghfdyjcnm

D[jl lkz htkt lfdktybz- pfobnf jn gecrf $dce[e.$-
dslth;rf dhtvtyb htuekbhjdfybz lfdktybz% 5 ctr=
Pfntv ghjbc[jlbn fdnjvfnbxtcrjt drk.xtybt yfcjcf
gjckt ecnhfytybz ytbcghfdyjcnb=

Aeyrwbz jcnfyjdrb (CNJG)% frnbdbhjdfyf#0-5%

ghb jxtym vfktymrjv rjkbxtcndt gjlfdftvjq hf,jxtq
chtls yfcjc jnrk.xftncz.

Rhfnrjdhtvtyyjt gjyb;tybt rjkbxtcndf j,jhjnjd
dhfotybz yfcjcf bpvtyztn j,]/v gjlfdftvjq hf,jxtq
chtls=

dH 10%, drk.xtybt% frnefkmyjt pflfyyjt pyfxtybt
lfdktybz _ 0-5 [ dH

dsrk.xtybt% frnefkmyjt pflfyyjt pyfxtybt lfdktybz+ 0-
5 [ dH

bkb aeyrwbz jcnfyjdrb yt frnbdbhjdfyf

Yfcjc yt jnrk.xftncz ghb ytpyfxbntkmyjv rjkbxtcndt
gjlfdftvjq hf,jxtq chtls- f ghjljk;ftn hf,jnfnm
lfkmit c vbybvfkmysv rjkbxtcndjv j,jhjnjd dhfotybz
(25%)

Jgjpyfdfntkmyfz kbybz vbybvev#vfrcbvev% 

vby=% 25%

vfrc=% 100%

Ltqcndetn- tckb aeyrwbz jcnfyjdrb hf,jns yfcjcf yt
frnbdbhjdfyf=

Nbg lfnxbrf% 4_20 vF#0_10 ,fh

Lfnxbr gjrfpfybz lfdktybz yf[jlbncz cj cnjhjys
lfdktybz b cke;bn lkz gjrfpfybz yjvbyfkmyjuj
pyfxtybz lfdktybz=

9=6=3 Ecnfyjdrf aeyrwbb jcnfyjdrb 
yfcjcf

Tckb aeyrwbz jcnfyjdrb frnbdbhjdfyf- njulf yfcjc
jnrk.xftncz fdnjvfnbxtcrb ghb ybprjv rjkbxtcndt
gjlfdftvjq hf,jxtq chtls= Nfrbv j,hfpjv bp,tuftncz
yfghfcysq hfc[jl 'ktrnhj'ythubb=

Ceotcnde.n cktle.obt djpvj;yjcnb%

• aeyrwbz frnbdbhjdfyf (pfdjlcrfz htuekbhjdrf)

• aeyrwbz yt frnbdbhjdfyf

Ybprjt rjkbxtcndj gjlfdftvjq hf,jxtq chtls vj;tn
,snm ecnfyjdktyj ldevz cgjcj,fvb%

- ghb gjvjob dcnhjtyyjuj lfnxbrf rjynhjkz
ghtltkmyjuj vbybvfkmyjuj pyfxtybz- rjnjhsq
fdnjvfnbxtcrb frnbdbhetncz- tckb ytn bkb yt
ds,hfyf aeyrwbz hf,jns htkt gjlfxb hf,jxtq
chtls= Yfcjc htuekzhyj rjynhjkbhetn rjkbxtcndj
gjlfdftvjq chtls pf cx/n rhfnrjdhtvtyyjuj
gjyb;tybz rjkbxtcndf j,jhjnjd dhfotybz= Ghb
nfrjv rjynhjkt abrcbhe.ncz bpvtytybz pyfxtybz
lfdktybz= Tckb bpvtytybq ytn bkb jyb
vbybvfkmys- njulf yfcjc ecnfyfdkbdftn ybprjt
rjkbxtcndj gjlfdftvjq hf,jxtq chtls=

- ghb gjvjob htkt gjlfxb hf,jxtq chtls- rjnjhjt
gjlrk.xtyj xthtp wbahjdjq d[jl= Tckb d[jl
frnbdbhjdfy ljkmit- xtv 5 ctr=- htkt ,th/n yf
ct,z k.,e. aeyrwb. jcnfyjdrb yfcjcf= D
jnkbxbt jn dcnhjtyyjuj lfnxbrf rjynhjkz
ghtltkmyjuj vbybvfkmyjuj pyfxtybz htkt gjlfxb
hf,jxtq chtls bpvthztn rjkbxtcndj gjlfdftvjq
chtls- ghb rjnjhjv yfcjc ljk;ty ,snm jnrk.xty=
Nfrbv j,hfpjv- yfcjc yt rjynhjkbhetn
rjkbxtcndj gjlfdftvjq chtls pf cx/n
rhfnrjdhtvtyyjuj gjyb;tybz rjkbxtcndf
j,jhjnjd dhfotybz=

Rfr njkmrj yfcjc pfabrcbhjdfk ybprbq j,]/v
gjlfdftvjq chtls- rjkbxtcndj j,jhjnjd dhfotybz
edtkbxbdftncz lj nt[ gjh- gjrf yt ljcnbuyenj lfdktybt
dsrk.xtybz- b yfcjc jnrk.xftncz= Tckb lfdktybt
ljcnbukj lfdktybz drk.xtybz- yfcjc cyjdf drk.xftncz=
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9=7 Lbfahfuvtyysq yfgjhysq ublhj,fr

9=7=1 Gjlgjh d lbfahfuvtyyjv yfgjhyjv
ublhj,frt Gjp= 9

Yfgjhysq lbfahfuvtyysq ublhj,fr hf,jnftn rfr
htcbdth yf ds[jlt vfubcnhfkb- ult hfpdbdftncz
rjytxyjt lfdktybt cbcntvs= Fpjn- pfrfxfyysq gjl
jghtltktyysv lfdktybtv d hfcgjkj;tyye. yfl
lbfahfuvjq dth[y.. xfcnm ublhj,frf j,hfpetn ghb
'njv nht,etve. egheue. $gjleire$

9=7=2 Ghjdthrf b htuekbhjdrf lfdktybz

(ytj,[jlbvf kbim d nt[ ckexfz[- rjulf bpvtyztncz
ecnfyjdrf pflfyyjuj pyfxtybz)=
Pfdjlcrfz htuekbhjdrf cjcnfdkztn pyfxtybt- rjnjhjt yf
10_30% yb;t- xtv pflfyyyjt- jlyfrj%

• Jndthyenm b cyznm rjkgfxjr pfghfdjxyjuj
rkfgfyf=

• Pfvthbnm lfdktybt c gjvjom. rjynhjkmyjuj
vfyjvtnhf b- tckb nht,etncz- cnhfdbnm
bp,snjxyjt lfdktybt lj nht,etvjuj pyfxtybz=

Djlf yt ljk;yf yf[jlbnmcz gjl
bp,snjxysv lfdktybtv@

Htrjvtyletncz d rfxtcndt pfgjkybntkz ghbvtyznm fpjn (N2)=

Yjvbyfkmyjt lfdktybt
(d ,fhf[)

Vfrc= djpvj;y= pfdjlcr= 
ecnfyjdrf (d ,fhf[)

10 8-7

16 14-0

25 22-0

DYBVFYBT

Pfghfdjxysq rkfgfy

Ublhj,fr

Lbfahfuvf

Rfvthf pfgjkytyyfz
djljq
Rfvthf pfgjkytyyfz
ufpjv

A
00

71
09

2

DYBVFYBT

Lbfgfpjy lfdktybq 1 – 10 ,fh Hdrk lfdktybt drk.xtybz

Gjlgjh

a0071092

Lbfgfpjy lfdktybq 10 – 25 ,fh Hdrk lfdktybt drk.xtybz

Gjlgjh

a0
08

10
92
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10 Nf,kbwf ytbcghfdyjcntq
Ytbcghfdyjcnm Djpvj;yfz ghbxbyf Ecnhfytybt ytbcghfdyjcnb

Ghb drk.xtybb yfcjc yt
hf,jnftn

Ytn gjlfxb njrf r 'ktrnhjldbufntk. Ghjdthbnm cbcntve eghfdktybz
Gjdht;ltys ghtlj[hfybntkb
Chf,jnfk fdnjvfn pfobns 
'ktrnhjldbufntkz
Gjdht;ltys rjynfrns fdnjvfnf 
pfobns
Yt ljcnbuyenj lfdktybt 
chf,fnsdfybz htkt lfdktybz- 
gjdht;ltyj htkt lfdktybz

Ghjdthbnm htkt lfdktybz b tuj 
htuekbhjdre

Gjdht;lty 'ktrnhjldbufntkm Ghjdthbnm 'ktrnhjldbufntkm
Yfcjc hf,jnftn- yj gjlfxb
djls ytn bkb ckbirjv vfk
yfgjh- yfcjc hf,jnftn c
ytgjcnjzyyjq
ghjbpdjlbntkmyjcnm.

ytn ;blrjcnb d vtcnt pf,jhf djls Jnrk.xbnm yfcjcysq fuhtufn 
HYDROMONO- jghtltkbnm ghbxbye

Ecnfyjdktyyfz dj dcfcsdf.otq b 
yfgjhyjq vfubcnhfkz[ pfgjhyfz 
fhvfnehf pfrhsnf

Jnrhsnm pfgjhye. fhvfnehe

Yfcjc gjlcfcsdftn djple[ xthtp 
hfputhvtnbpbhjdfdittcz cjtlbytybt 
bkb nhe,e dj dcfcsdf.otq 
vfubcnhfkb

Ghjdthbnm uthvtnbxyjcnm 
dcfcsdf.otq vfubcnhfkb

Pf,kjrbhjdfy j,hfnysq rkfgfy Ghjdthbnm j,hfnysq rkfgfy
Dcfcsdf.ofz vfubcnhfkm pf,bnf 
uhzpm.

Ghjxbcnbnm dcfcsdf.oe. vfubcnhfkm

Yfcjc hf,jnftn 
gjcnjzyyj b yt 
jnrk.xftncz

Yt ljcnbuftncz pyfxtybt lfdktybz 
dsrk.xtybz

Jnrjhhtrnbhjdfnm pyfxtybt vjvtynf 
chf,fnsdfybz yf htkt lfdktybz

Gjdht;ltyj htkt lfdktybz (rjynfrns) Ghjdthbnm htkt lfdktybz b cbcntve 
eghfdktybz

Gjdht;ltyf cbcntvf eghfdktybz
Yt ghjbc[jlbn 
jnrk.xtybz 
j,jheljdfybz ghb 
ytljcnfnjxyjv 
rjkbxtcndt djls

Gjdht;ltyj htkt lfdktybz gjlgbnrb 
(rjynfrns)

Ghjdthbnm htkt lfdktybz b dc. 
cbcntve

Gjdht;ltyf cbcntvf eghfdktybz

Fdnjvfn pfobns ldbufntkz 
chf,fnsdftn dhtvz jn 
dhtvtyb

Ckbirjv vfkf htuekbhjdrf 
fdnjvfnf pfobns

Gjlhtuekbhjdfnm d ljgecnbvs[ 
ghtlfkf[

Ckbirjv dscjrfz ntvgthfnehf 
jrhe;f.otq chtls
Rjkt,fybz yfghz;tybz d ctnb

J,tcgtxbnm dtynbkzwb. d nht,etvjv 
j,]/vt
Ghjdthbnm ctnm 'ktrnhjgbnfybz

Gjckt dsrk.xtybz yfcjc 
dhfoftncz d j,hfnyjv 
yfghfdktybb

Gjdht;lty j,hfnysq rkfgfy Ghjdthbnm j,hfnysq rkfgfy (ghb 
ytj,[jlbvjcnb _ jxbcnbnm bkb 
pfvtybnm)

Ievs- dspsdftvst 
hf,jnjq yfcjcf bkb 
'ktrnhjldbufntkz

Gjdht;lty gjlibgybr Pfvtybnm yfcjc bkb 'ktrnhjldbufntkm
Ckbirjv ybprj dscnfdkty dfk yfcjcf Jnhtuekbhjdfnm gjkj;tybt dfkf
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11 Nt[ybxtcrjt 
j,cke;bdfybt

Gthtl yfxfkjv hf,jn gj
nt[ybxtcrjve j,cke;bdfyb.
j,zpfntkmyj dsgjkybnm dct
jgthfwbb- ytj,[jlbvst lkz
cyznbz yfcjcyjuj fuhtufnf c
'rcgkefnfwbb- gjkyjcnm.
jnrk.xbnm tuj jn 'ktrnhjctnb b
,kjrbhjdfnm jn gjdnjhyjuj
drk.xtybz= 
R ghjdtltyb. nt[ybxtcrjuj
j,cke;bdfybz ljgecrf.ncz
njkmrj cgtwbfkbcns@

Xnj,s j,tcgtxbnm yflt;ye. b ghfdbkmye.
'rcgkefnfwb. j,jheljdfybz HYDROMONO- abhvf
htrjvtyletn dsgjkybnm cktle.obt vthjghbznbz%

Lfktt- ghjcbv Dfc cj,k.lfnm erfpfybz- ghbdtltyyst d
herjdjlcndt gj 'rcgkefnfwbb yfcjcf CR=

Cbcntvf HYDROMONO yt nht,etn nt[ybxtcrjuj
j,cke;bdfybz=
Jlyfrj htuekzhyjt dsgjkytybt rjynhjkmys[ jcvjnhjd
j,tcgtxbn lkbntkmysq chjr cke;,s j,jheljdfybz=
Lkz 'njuj vs htrjvtyletv Dfv pfrk.xbnm
cjjndtncnde.obq ljujdjh c abhvjq UHEYLAJC j
ghjdtltybb bycgtrwbjyys[ ghjdthjr=
Ghjcbv Dfc j,hfofnmcz d cjjndtncnde.ott vtcnyjt
jnltktybt abhvs UHEYLAJC=

12 Nhfycgjhnbhjdrf 
Nhfycgjhnbhjdrf j,jheljdfybz dsgjkyztncz
njkmrj d ghtlyfpyfxtyyjq lkz 'njuj egfrjdrt (bkb
d fyfkjubxyjq egfrjdrt)=

Nht,jdfybz 'rjkjubb

Dctv gjyznyj- xnj
nhfycgjhnbhjdfnm j,jheljdfybt
,tp egfrjdrb ytkmpz=
Ghjcbv Dfc cj,k.lfnm ghb 'njv
nht,jdfybz 'rjkjubb b elfkznm
bkb enbkbpbhjdfnm ghbvtyztvst
egfrjdjxyst vfnthbfks
cjukfcyj ghtlgbcfybzv=
Ghb ytj,[jlbvjcnb j,hfofqntcm
d cjjndtncnde.ott vtcnyjt
jnltktybt INTERSEROH bkb d
Dfit jnltktybt abhvs
UHEYLAJC=

13 Gjcktghjlf;yjt 
nt[ybxtcrjt 
j,cke;bdfybt#
pfgfcyst epks b 
ltnfkb#ghbyflkt;yjcnb 

Yfcnjzntkmyj j,hfoftv dfit dybvfybt yf nj- xnj
pfgfcyst epks b ltnfkb- f nfr;t ghbyflkt;yjcnb-
gjcnfdkztvst yt yfvb- vs yt ghjdthzkb b yt
dslfdfkb hfphtitybt yf b[ 'rcgkefnfwb.=
Gj'njve k.,jt ghbvtytybt 'nb[ bpltkbq d
rjycnherwbb j,jheljdfybz bkb ghb tuj
'rcgkefnfwbb ghb jghtltktyys[ eckjdbz[ vj;tn
jnhbwfntkmyj crfpfnmcz yf pfghjtrnbhjdfyys[
[fhfrnthbcnbrf[ b yfheibnm aeyrwbjybhjdfybt
cbcntvs=
Abhvf UHEYLAJC yt ytctn ybrfrjq
jndtncndtyyjcnb bkb ufhfynbqys[ j,zpfntkmcnd d
cdzpb c eoth,jv- djpybribv dcktlcndbt
ghbvtytybz pfgfcys[ epkjd b ltnfktq- f nfr;t
ghbyflkt;yjcntq lheub[ abhv_bpujnjdbntktq=

Ytbcghfdyjcnb- rjnjhst ds yt vj;tnt ecnhfybnm
cfvjcnjzntkmyj- ljk;ys kbrdblbhjdfnmcz njkmrj
nt[ybxtcrjq cke;,jq UHEYLAJC bkb lheubvb
cgtwbfkbpbhe.obvbcz yf nt[ybxtcrjv
j,cke;bdfybb abhvfvb- bvt.obvb yf 'nj
hfphtitybt abhvs UHEYLAJC=

D ckexft djpybryjdtybz ytbcghfdyjcnb ghjcbv
cjj,obnm yfv njxye. b bcxthgsdf.oe.
byajhvfwb. j [fhfrntht ytbcghfdyjcnb- xnj,s
cgtwbfkbcne gj nt[ybxtcrjve j,cke;bdfyb.
vj;yj ,skj cjjndtncnde.obv j,hfpjv
gjlujnjdbnmcz b pfrfpfnm yflkt;fobt pfgfcyst
epks b ltnfkb=

- dsgjkyznm ghjdthre aeyrwbq 
gthtrk.xtybz yfcjcf- f nfr;t 
gjlgjh d yfgjhyjv ublhj,frt yt 
ht;t- xtv jlby hfp d ujl+

- htuekzhyj gjlnzubdfnm dct 
htpm,jdst rktvvyst cjtlbytybz d 
cbcntvt eghfdktybz b d lfnxbrf[ 
cbuyfkjd+
,jktt njxyfz gthbjlbxyjcnm 
ghjdthjr pfdbcbn jn eckjdbq 
'rcgkefnfwbb- b jrhe;f.otq 
chtls=

ERFPFYBT
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Flhtcf yfib[ nt[ybxtcrb[ ,.hj erfpfys d rjywt
lfyyjq ,hji.hs=

Nt[ybxtcrbt [fhfrnthbcnbrb j,jheljdfybz ghjcbv
Dfc erfpsdfnm d cjjndtncndbb c lfyysvb
abhvtyyjq nf,kbxrb c nt[ybxtcrbvb
[fhfrnthbcnbrfvb=

14 Ghbkj;tybt # 
cjghjdjlbntkmyfz 
ljrevtynfwbz

Lfyyjt herjdjlcndj gj 'rcgkefnfwbb 96026193
HYDROMONO CR/CRE HYDROPAK ytj,[jlbvj
bcgjkmpjdfnm dvtcnt cj cktle.otq ljrevtynfwbtq%

• 'ktrnhjc[tvfvb cbcntvs eghfdktybz+

• gfcgjhnfvb bkb bycnherwbzvb lkz lfnxbrjd
cbuyfkjd+

• herjdjlcndjv gj 'rcgkefnfwbb yfcjcf CR/CRE;

• herjdjlcndjv gj 'rcgkefnfwbb lbcnfywbjyyjuj
eghfdktybz R100.




